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Section : Mental Ability

Q.1 Study the following information carefully and answer the given questions,

ion ID : 162
FOr & FECrufiment process in an ACCOUNTING organization, the candidares need 10 possess he following Questio 626538
qualifications aiteria;

i) He/she must be a graduate n commerce with ot least 5096 marks.

i) He/she must be at least 24 years of age and nof more than 40 yvears as on 1-7-2016.
iii)  He'she must have a post-qualification work experience ol at least 2 vears,

ivji  He/she should have secured 55% marks in the selection process,

However, if the candidate mirlls the sbove-mentioned Criiers except.

{A) at (i) and if the didate iz not a g in but has a p duation degree in finance with minimum
of 60% marks; he/she should be referrad o the Finance Manager of the organization.

(B o (fit), and if the candidate fulfills all the eligibility criteria of post-qualification work experience bat has secured
75% marks in the selection process, he/she may be referred to the Trainee Accountant.

Based on the above information, study carefully whether following candidates are eligible for the recruitment process
and mark your answer as follows, You are nel 1o assime anylinng other than he information provided in each question.
All the cases are given 1o you as ou 1-7-2014.

Snehlara’s dateof birth iz 6.2 1900 Ske Tas done her graduation and post-gradustion in Commerce and secured 61%
and 63% marks respectively. She has a post-qualification work experience as 8 Senior Accountant of 3.5 vears. She has
secursd 38.9% marks in the selection process.

Ans  of 1. The candidate is to be selected
52

The candidate may be referred to the Finance Manager

# 3. The candidate is not to be selected
>~ 4

The candidate may be referred to the Trainee Accountant

Q2 gelect the odd pair from the following. Question ID : 1626531

Ans o 1. Austria : Beijing
# 2. Canada: Ottava
# 3. Cuba : Havana
& 4. Japan : Tokyo

Q.3 Ifthe transparent paper is folded at the dotied line, what will be the resulting figure?
|

Question ID : 16265310
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Q.4 Find the odd pair of numerical that does NOT hold same relation as the rest.
Ans  X'1. 9.3

K2 8-4

v310-3

X46-6

Question ID : 16265318

Q.5 What will come in place of question mark in the below series?
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Question ID : 1626535

Q.6 Spot the option figure that has the below figure embedded as part of it.

@)

Question ID : 1626537
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Identify the most appropriate option. l Question ID : 16265311

A computer must have:
Ans  of 1. Processor
# 2. Printer
/X 3. Gaming consoles

X 4 CD/DVD player

Q.8 ine Venn di | ion.
Study the following Venn diagram carefully and answer the question Question ID : 16265312

Gujarati &Q Marathi
G

How many persons speak only two languages?
Ans X 1. 68
V2 94
X3 72
X 4 52

Q.9 If A stands for —, B stands for —, C stands for », then what is the value of (6C5)A(14C2)B4?

Question ID : 16265314
Ans X1 34

X227
X 3 62
W4 54

Q.10 The total of the ages of Anjali. Ankitha and Banu is 60 years. What was the total of their ages four years ago?
Question ID : 16265316

Ans 1. 50 years
o 2. 48 years
/< 3. 75 years
/< 4 62 years

Q.11 Choose the words-pair in which the words are differently related than in other pairs of words.
Question ID : 16265317

Ans o 1. Unhappy : Pleasure
#< 2. Moist : Drench
X 3. Wish : Desire
# 4. Error : Blunder

Q.12 ; W - : 1 puars
‘What will come in place of question mark in the below series? Question ID : 1626534
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Q.13 Sadhana introduces Ramu as “The son of the trother of her father’s wife”. How is Ramw related to Sadhana?

Question ID : 16265313
Ans 1. Son

v 2 Cousin
< 3. Father
X 4 Uncle

Q.14 Identify the image from options that is similar to the below set of figures,

Question ID : 1626532
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Q.15 = i ¢ :
What would be the next term in the below number series? Question ID : 16265319

2,8,18, 32, 50,72, 7
Ans X 1100

W 2 08

X 3115

< 4110

Q.16 You encounter an angry customer at shopping mall quarreling with the staff of the store for unhygienic products. Wiat
Sl oAt o A PR e S Question ID : 1626539




Ans ¢ 1. Carry on with your work
#< 2. Throw out all the products of the mall
W 3

Bring the information to the notice of the mall authorites to take necessary action about hygiene of their products

F

Make an agitation and provoke all the customers to walk out of store

Q.17 Given below are a few images. Identify the odd image among the options.

o

A

Ans X1,
K 2
X 3
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Question ID : 1626533

Q.18 What would be the next term in the below series of terms?

WL, TO. PS5, KX, ?
Ans X 1. GF
X 2 DK
v 3 ED
< 4 EL

Question ID : 16265320

Q.19 The following graph shows information about the death rate because of dengue fever in a tribal village ‘Z° for
the past 6 years.

number of death’s

[
012 2013 2014 15 1018 2087

During which period the death rate dus to dengue fever has increased?

Ans X1 2014-2015
X 2 2012-2014
X 3. 2015-2016
W 4 2016-2017

Question ID : 1626536

Q.20 Inanexamination, a student scores 4 marks for every correct answer and loses 1 mark for every wrong answer, Ifhe
atternpts all 80 questions and secures 200 marks, the number of questions he anempts correctly is:

Ans X 1. 74
X2 62
W3 56
X 4 50

Question ID : 16265315

Section : General Awareness




Q.1

Ans

The National Authority Chemicals Weapons Convention (NACWC) is

vl

an office in the Cabinet Secretariat, Government of India

K 2
an office under the Prime Minister’s Office (PMO)

K 3
part of the Department of Defence Production

Z 4 an autonomous authority

Question ID : 16265339

Q.2

Ans

Inwhich year did the British East India Corzpany acquire a charter from Queen Elizabeth T granting it the sole right to
trade with the east?

v 1. 1600
X 2 1612
X 3. 1628
X 41598

Question ID : 16265321

Q.3

‘Whe won the ‘Player of the Final® title in the ACC Women's Asia Cup T20 2018 cricket tournament?

Question ID : 16265327

Ans X 1. Harmanpreet Kaur
+ 2. Rumana Ahmed
# 3. Fahima Khatun
& 4 Thulan Goswami
Q.4 Which of the following is NOT true with reference to the NITI Aayog?

Ans

< 1. It replaced the Planning Commission.

K2

It provides policy inputs to the Government of India.
< 3. It was formed on January 1, 2015.
o 4 Tt was formed by an Act of Parliament.

Question ID : 16265340

0.5 2 i
The contraction of human heart chambers is called Question ID : 16265335
Ans  of 1. Systole
#< 2. Heartbeat
& 3. Stroke
& 4 Diastole
Q.6 Inwhich year did James Watson and Francis Crick discovered the double-helix structure of Deoxyribanucleic acid
Ay Question ID : 16265338
Ans  9C1.1949
X 2 1960
X 31955
W 4 1953
Q.7 The river forms the traditional boundary between North India and South India.
Ans Question ID : 16265332

& 1. Godavari




/< 2. Tapti
' 3 Narmada
& 4 Krishna

Q.8

Ans

The Financial Stability and Development Council is chaired by the
/< 1. Finance Secretary
X 2. Governor, Reserve Bank of India

& 3. Chief Economic Advisor
' % Union Finance Minister

Question ID : 16265334

Q.9

Ans

The Prime Minisier's Science, Technology and Innovation Advisory Comecil (FM-STLAC) consisting of

members was constinuted on 18th August 2018,

X115
X211
<310
421

Question ID : 16265337

Q.10
Ans

The Mauryan pillar found at Sarnath, pepularly known as the Lion Capital. did NOT contain the figure of @

< 1. Elephant
v 2 Cow

/< 3. Horse
X 4 Bull

Question ID : 16265330

Q.11

Ans

‘Mission Retro-Fitment" is related to the Union Ministry of
< 1. Agriculture and Farmers Welfare
o 2 Railways
X 3. Drinking Water and Sanitation
# 4 Defence

Question ID : 16265323

Q.12 Which of the following is an example of homogeneous mixtures?

Question ID : 16265336

Ans X 1. Oil and Water

o 2. Sugar in water

< 3. Salt and Sulphur

& 4 Sodium chloride and Iron filings
Q13 The Carnatic Wars were fought between Question ID 16265322
Ans

& 1. the British and the Marathas
«' 2. the British and the French
#< 3. the Mughals and the British

# 4. the French and the Portuguese

Q14 YWho among the following is a leading Indian Boxer?

Question ID : 16265328




Ans ' 1. Pawan Kumar

< 2. Sandeep Tomar
X 3. Sathish Kumar Sivalingam
« 4 Amit Panghal

Q.15 The castingof _____ statues was popular at all the major centres of the Iadus Valley Civilisation.
Ans  of 1. Bronze

& 2 Wood

& 3 Silver

& 4 Tron

Question ID : 16265329

Q.16 The rank of the Chief of the Army Staff in India is
Ans X 1. Lieutenant General

# 2. Major General

& 3. Field Marshal
\, 4. General

Question ID : 16265326

Q.17 Match the following types of soil with its widely known feature.

f. Black q. common salt is obtained

d. Laterite t. Infertile

a. Saline k. prevalent in Deccan Plateau
m. Arid p- used for cutting bricks

Ans 3 1. f-k, d-p. a-q. m-t
X 2. d-t, f-k, a-p. m-q
v 3 m-q. d-p, fk, a-t
X 4 a-t, f-q. d-p. m-k

Question ID : 16265331

Q.18 One single health insurance policy that takes care of the hospitalization expenses of the entire family is commonly
referred to as =

Ans 3 1. Family Plan
' 2. Family Floater
X 3. Group Mediclaim
/< 4. Family Umbrella

Question ID : 16265333

Q.19 What is the name of the Govemment healthcare scheme that was renamed in November 2016, for making available
generic medicines at affordable prices?

Ans X 1. Pradhan Mantri Jan Aushadhi Mission

v &)
Pradhan Mantri Bhartiva Janaushadhi Pariyojana

#< 3. Pradhan Mantri Bhartiya Aushadhi Yojana
#< 4 Pradhan Mantri Aushadhi Yojana

Question ID : 16265324

Q.20 Whowas holding the additional charge of Chairperson of the National Commission for Women after Smt. Lalitha
Kumaramangalam demitted office on 28-September-20177

|

Question ID : 16265325




Ans X 1. Ms. Mamta Sharma
& 2 Dr. Girija Vyas

«' 3 Ms. Rekha Sharma
< 4 Ms. Sushma Sahu

Section : Arithmetic Ability

Q.1 625)925%(25)2€ _ (0.49)°x(0.342)% .

Question ID : 16265341

ThEineiar [(54}5-?5%1?’5}2“ (0.2401)5
ans of 1. 25

X 2 035

X 3175

X 4025

Q2 T B SBR[ .
Thevalueof ;X = —,© 2 of 1+ lies between:

Question ID : 16265343

3 3—2
z

Ans 1

i

1

1

1

1

1

1

Q_3 A dealer merks an article 40% above its cost price and allows 12% discount on i1s marked price, Later on, he sells ithy
giving another cash discount of T 39 and still he eams a profit of 18%. What is the cost price of the article?

Question ID : 16265348

Ans - X1 700
< 2 T680
K3 TT720
v 4 T 750

There arz some children in a camp and their average weight is 24 kg, If 5 children of av weight 18 kg join the
. p g g ETARE WElE J
camp or if 10 children of average weight 24:—: kg leave the camp, the average weight in both cases remains equal.
Initially. what is the mumber of children in the camp?

Question ID : 16265349

Ans X118
X216
X312
415

Q.5 16Lofasolution comaining 15% acid are mixed with 20 L of another solution containing 16% acid. 4 L of water was
thien mixed with the resulting solution. What is the percentage of water in the final solution?

Question ID : 16265346

Ans  of 1. 86
X2 82
X 3 80
X 4 88




Q.6 -
; 1+||1——
The value of J1+\:—§+J1—§ +— = s

)
2

Ans ?<-l 1f§
X 2 243

K3
v

= ba| e

Question ID : 16265342

Q.7 Acandoa piece of work in 10 days, B can do it in 15 days and C can do it in 20 days. Thzyslanedthewkmgetber
A leaves off afier 2 days and B leaves off after 4 days from the beginning. C will compl ing work in:

X lﬂg'-days

Ans

2 62 days
< 3 5; days

X 4 5§ days

Question ID : 16265357

Q_8 The ratio of speeds of A and C is 5: 11. B covered o distance of 450 km in 6 howrs. The speed of A is two-thirds that of’
B. The distance {in k) coverad by C in 3.6 hours is:

Ans - X 1. 270
W 2 396
& 3 200
X 4 388

Question ID : 16265356

Q.9 The ratio of mean proportional between 0.8 and 9.8 and the third proportional to 0.7 and 2.8 is:

Ans of 1.1:4
K 2
K 3
F

ot SR
LS R S R |

Question ID : 16265350

Q 10 Aand Bean do a piece of work in 20 days, After working for 5 days together, C assisted them and the work was
wompleted in next 10 days. If © does as much work in 4 doys as B does in 3 days, how long B and € together will toke
to complete the same work?

Ans F R 13;(133!3
W2 1?% days
X 3 132'- days

X 4 1?%’ days

Question ID : 16265358

Q,1 1 The compound inferest cn a certain sum for 2 years at 10% per annum, interest compounded yearly, is 76,300, What
will be the compound interest on the same sum for 31; years atthe same rate? (nearest to one I)

Question ID : 16265352

Ans - X' 1. ¥10,892
X 2 10,882




X 3 10,829
W 4 10,928

Q.12 Letxbe the greatest mumber which when divides 1288, 8139, 17200 the remaindr in each case is the sume. What is the
sum of digits of 27

Question ID : 16265344

Ans X111
K28
x36
s

Q.13 The ratio of lateral surface area of a cone and that of hemisphere with equal height and equal radius is:

Ans X12 3

Question ID : 16265354

N2q 3
K32: 43
vi1:42

Q.14 The mouthly incomes of A and B are in the ratin 6: 5 and expeases ars in the ratio @ : 8. 1M the ncome of B is equal 1o
the expenses of A then the ratio of savings of A and B is!

Question ID : 16265351

Ans ¢1,9:5
X25:9
K3 4:3
X434

Q.15 Ifgoods are purchased for T 480 and one-third are sold at a loss of 10%, then at what percentage profit should the
remaining be sold 50as to gain 20% on the whole transaction”

Question ID : 16265347

Ans X 1. 42
X 2 28
<3 40
W 4 35

Q.1 6 The areaof field in the shape of a trapezium is equal to the area of another field in the shape of an equilateral triangle. If
the parallel sides of the first field are 70 m and 170 m and non-paraliel sides are 130 m each, then the side (in m) of the
triangular fizld is:

Question ID : 16265353

Ans X1 80427
K 2 40427

x 3 4(}(27};1
v 4 go(27):

Q.17 The rate at which water flaws in a river is 33%% of the speed of a haat in still water. IF the hoat travels down the river

f0f3‘t- hours and then returns back the river for 3 bours, it will be 33.6 kam short of its starting point. What is the speed
(inkm) of the boat in still water?

Question ID : 16265355

Ans X 1.10.8
<2132
X 3128
4126

get scholarship and the number of zirls who do not get scholarship is 32, then the number of boys who do not get

Q.‘] 8 Ina class 60% of the students are boys and rest are girls, If 35% of the numnber of boys and 60% of the number of grls
scholarship is:

Question ID : 16265345




ans of 1. 78
< 2 60
<3 84
X4 42

Comprehension:

Study the following Pie-chart and table and answer the questions.

Percentage breakups of employees in differents of a
company

mA B sl 2D mE mF

Total number of employees = 6300

Ratio of Males and Female employees

Department Male ; Female
A 11 6
B 10 11
€. 4 i
D 13 14
E 7 3
B 5 6

SubQuestion No : 19

.1 . "
Qg The ratio of the number of male employees in Question D : 16265360

departments B, D and E together to the number of
female emplovees in A. E and F together is:

Ans X 1. 31:21
v23:2
X33:4
X 4 63:43

Comprehension:




Study the following Pie-chart and table and answer the questions.

Percentage breakups of employees in differents of a
company

mfA B sC 2D mE mF

Total number of employees = 6300

Ratio of Males and Female employees

Department Male : Female
A 11 6
B 10 11
€ 4 3
D 13 14
E 7 3
H 5 6

SubQuestion No : 20

@2 Total number of employees in department E is what

Question ID : 16265361

percent less than the total number of female
employees in departments C and D?

Ans XL 15
X219
V'3 16
X 4 14

Section : General English

Q1 Select the most appropriate synonym of the given word.

Question ID : 16265371

INMDVIUNE
Ans X 1. yulnerable
W 2 resistant




/< 3. susceptible
< 4 helpless

Q.2 select the most appropriate option to fill in the blank.

The communists lost the conservatives the first free elections Croatia.

Question ID : 16265367

Ans X 1. in; by ;at
/< 2. for;with ;in
K 3 by:to:for

W 4 to:in:in

Q.3  Select the most appropriate option to fill in the blank.
Iwas working on my Mathematics _ Taru and Kavya were playing chess.
Ans - X 1. instead
& 2. however
v © meanwhile
/< 4 therefore

Question ID : 16265365

Q.4 Select the option which is NOT an antonym of another word by way of adding the prefix ‘dis-".

Ans X 1. disqualify
& 2. disinterested
X 3. disregard
o 2. distinguished

Question ID : 16265373

Q.5 Select the most appropriate option to fill in the blank.

Jayati and Madhav were wearing their raincoats. Thefore, when the rain came, they WeL.

Question ID : 16265362

Ans X 1. do not get
v 2. didn’t get
#< 3. haven’t got
< 4. aren’t getting

Q.6 From the options given below choose the sentence that is NOT correct.

Ans X1,

The mbot, developed by Diligent Robotics has gone into service at three hospitals in Texas as part of pilot programme.

K 2

Diligent believes Moxi can free up nursing staff for other duties.

< 3.

Moxi is a "socially intzllizent" hospital robot that can autonomously pick up and deliver medical suppliss.

W 4

Moxi take on non-patient-facing logistical tasks and reduce trips by nurses to supply rooms,

Question ID : 16265376

Q.7 Select the most appropriate option to fill in the blank.

Yesterday, I noticed that when the teacher was teaching, you to her.

Ans 1. do not listen

Question ID : 16265363




/< 2. have not listened

# 3. are not listening

o 2 were not listening

Q.8 Select the most aporopriate option to fill in the blank.
Question ID : 16265369

Noone that the intensity of the floods in Kerala would be so great that it would demolish village after village.

Ans X 1. examined

X 2 involved
+ 3 anticipated
& 4 watched

Q9 Select the most appropriate antonym of the given word. Question ID : 16265372

SUBSIDE
Ans x 1. dﬂ}p
& 2 sink
W 3. stand
< 4 fall

Q_‘] 0 Select the mos: appropriate option to fill in the blank.

uestion ID : 16265366
A country striking natural beauty a stunning Adriatic coastline, Croatia is very popular as a tourist Q
destination.

Ans  of 1. of ; with
& 2 of;on
/< 3 for;at
X 4 with ; in

Q.11 : g : .
Select the most appropriate option to fill in the blank Question ID : 16265364

I don’t like to drive in the Delhi traffic I use Metro and auto.
Ans X' 1. even if
& 2. otherwise

< 3. because

W 4 so

Q.12 Arrange parts of the sentence in meaningful and grammatically correct order.
o & 7 Question ID : 16265374

A, recommend that

B. should be introduced

C. Researchers at the TJS National Library of Medicine
D. 'no selfie zones'

E. at dangerous spots 10 reduce deaths

Ans X' 1. CEBAD
X 2 CBEDA
X 3. CDAEB
« 4 CADBE

Q.13 |




Select the most appropriate synonym of the given word. l

Question ID : 16265370

RECKON
A of 1 imagine
& 2. examine
X 3. explain

X 4 observe

Q.14 mmthe following sentence four words/phrases have been underlined. One of them is meorrect,

! therlands have discovered a 2,000-year-old stretch of Roman road and the remains of a Roman
‘ﬂanem_thi_tmnﬁ(amuk whe onge marked the northern boundary of the Foman Empire,

Question ID : 16265375

Ans X 1. have discovered
v 2 who once marked
# 3. and the remains of
& 4 at the town of

Q.15 Select the most appropriate option to fill in the blank.

Question ID : 16265368

Youcanstill __ the video that she has uploaded on the You Tube.
Ans X" 1. penetrate
o 2. access
X 3. infiltrate
X 4 attack

Comprehension:




Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. Tt can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1,500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet, FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, so as to prevent the caterpillars from emerging.

SubQuestion No : 16




061 “Since then, it has spread to 44 countries across the l Question D : 16265379

continent.” Which continent is being referred to
here?

Ans < 1. South America
& 2 North America
X 3. Asia
v 4 Africa

Comprehension:




Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. Tt can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1,500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet, FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, so as to prevent the caterpillars from emerging.

SubQuestion No : 17




Qf The FAW attacks a number of crops. However which l

is the crop where it has been mainly detected?
Ans 1. Soyabean
& 2. Rice
/< 3. Sugarcane

o 4 Maize

Question ID : 16265380

Comprehension:




Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. Tt can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1,500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet, FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, so as to prevent the caterpillars from emerging.

SubQuestion No : 18




@1 How can the farmers best stop caterpillars from | Question D : 16265382

emerging?
Ans 1. By biological and cultural control
/< 2. By using host place resistance
« 3. By destroving the eggs seen on the plants
/< 4. By spraying the fields with chemicals

Comprehension:




Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. Tt can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1,500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet, FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, so as to prevent the caterpillars from emerging.

SubQuestion No : 19




Q.1 g i % 4 .
o Ihe main purpose of this article is to:

Ans XL

Highlight the problems created by FAW in different
countries

W2
Create awareness that effective measures can solve
the pest problem

< 3. Explain the life cycle of the pest FAW

< 4
Show how India has dealt with the pest problem

Question ID : 16265378

Comprehension:




Read the following passage and answer the questions based on it.

The occurrence of a new insect pest, Fall Armyworm (FAW), has
been recently reported in Karnataka and also parts of Andhra Pradesh,
Telangana, Tamil Nadu, Maharashtra and Gujarat. The pest has been
detected mainly in maize fields.

FAW is not new to the scientific community. This highly-destructive
and invasive pest has been seen in the Americas since several decades,
but its prevalence outside was noted for the first time in West Africa in
early 2016. Since then, it has spread to 44 countries across the continent.

The adult moth of the pest migrates very fast — almost 100 km every
night. Tt can, therefore, invade new areas quickly. Also, each female moth
is capable of laying 1,500 eggs on an average. The entire lifecycle —
from egg to new adult moth that lays fresh eggs — is completed in about
30 days during the summer months. The pest thrives on a wide spectrum
of host crop plants: maize, sorghum, rice, sugarcane, soyabean,
vegetables, etc.

Yet, FAW can be effectively managed through an integrated pest
management (IPM) approach.

The FAW moth lays eggs on the plant’s foliage (leaves). The egg
stage lasts for only 2-3 days in warmer weather. The next larval stage is
the most dangerous one whose entire duration is from 14 to 30 days,
depending on the temperature and humidity conditions. The destruction
of leaves, stems or flowers of the crop plants by the larva through feeding
happens mostly at this stage. Once the larval stage is completed, the
growing moth pupates in the soil — for 8-9 days The nocturnal egg-
laying adults live for about 10 days, while most active during warm and
humid evenings.

Scientists at the University of Agricultural Sciences, Bengaluru have
scientifically validated the incidence of FAW in maize fields across
various districts of Karnataka. There have been isolated reports of the
pest’s presence in the maize-growing areas of other states, too.
Fortunately, it has not caused any significant destruction as yet. But the
fact that the moth can travel several hundred kilometers and lay eggs
profusely during its lifespan calls for serious concern.

In such a scenario, policymakers — more so, in the states where the
pest has already been detected — need to nip the problem in the bud. A
mass awareness campaign is necessary to build awareness among farmers
and extension workers on how to recognize the various stages of the
insect and manage/control it with the right IPM interventions. An
effective IPM strategy would need to incorporate host plant resistance
(through breeding), biological and cultural control, and use of
environmentally-safer chemical and bio-pesticides for crop protection.
Spraying of chemicals should be avoided. Cultural control practices can
work, especially when the FAW problem is still localised to particular
geographies/crops. The eggs laid by the moths are discernible to the
naked eye. Farmers can be trained to recognize and destroy the egg
masses, so as to prevent the caterpillars from emerging.

SubQuestion No : 20




Q2 What is the correct sequence of a moth’s life cycle? | Question ID : 16265381

A. eating of leaves, stems and flowers by the larva
B. emerging of the adult moth
C. laying of eggs on the plant’ leaves
D. pupating underground
Ans 1. ABCD
# 2. BDAC
v 5 CADB
# 4 DCBA

Comprehension:

A fedr 1w srgamer @ 9 IO TH G4l & 3ol Al

ST, T B TEaw GASEeA 99 (1938) Y S F ST e
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SubQuestion No : 1

1 ot T F 99 & FeT H Hmdr Siﬁﬂ?l' & Question ID : 16265388

IR HETYOr AT 82
Ans X 1. oTTey

v 2 =T

< 3 AT

K"

Comprehension:
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Comprehension:

At & 71T TgaTer #F ggHT I T WRAl & 3eak ST
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FTeT Fal B
SubQuestion No : 3

C fro AT Y T g & SHEAIEr weg Question ID : 16265387
Fer?




Ans

X . Fee
X 2 FrHAmEr
X 3 oo
v 4 EreRd

Comprehension:
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Question ID : 16265384
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Q.5

Ans

A fedr 1w srgamer @ 9 IO TH G4l & 3ol Al
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FIeT FaT ¢

SubQuestion No : 5

T T o ‘FEFJ' & T FEH e &g Question ID : 16265386
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X 3. TEAPIT
v

Section : Subject Related

Q.1 Which Congress session formalized the demand for “Purna Swarsj’ or ‘Full Independence’ for India?
Ans 3 1. Calcutta session, 1917

< 2. Delhi session, 1923

« 3. Lahore session, 1929

/< 4 Lahore session, 1909

Question ID : 162653111

Q.2 When did the Convention abolished monarchy and declared France as a Republic?

A X1 10t August, 1793
X 2 20d Ayoust, 1793
v 3 215 September, 1792
X 4 oth iy, 1794

Question ID : 162653107

Q.3 Whowas the leading Enalish mamifacturer who sought to build a cooperative ity called New H: 'in
Indiana (USA)?

Ans X' 1. Louis Blanc
# 2. Daniel Johnson
# 3. Friedrich Engels

+ % Robert Owen

Question ID : 162653113

Q_4 Who among the followings mobilized the Head and Cultivetors of Chaurasee Des, moving at night from village to
village, urging pecple to rebel against the British?

Ans  of 1. Shah Mal
& 2. Suraj Mal
& 3. Birjis Qadr
# 4. Maulvi Ahmadullah Shah

Question ID : 162653110

Q.5 What was the young and fragile idea that could NOT survive the instabilities of the interwar Europe?

Ans & 1. Radicalism
& 2. Conservative dictatorship

o 3. Democracy
/< 4 Socialism

Question ID : 162653121

Q.6 ‘Who proposed the form of government that was based on a social contract between people and their representatives?

Ans  of 1. Jean-Jacques Rousseau

& 2. David Hume
< 3. Montesquieu

Question ID : 162653106




/< 4 John Locke

Q.7 Reacting against the colonial policies ani to organize the business activities when did the Indian Merchants and
Industrialists formed the Indian Industrial and Commercial Congress?

Ans X 1.1927
X 21923
W 31920
X 41921

Question ID : 162653112

Q.8 Mention the name of the book that was written by Charlotte Beradt who secretly recarded the people’s dreams in her
dairy and later published it as a book.

Ans - X1 Villette
& 2. Inside the Third Reich
' 3 Third Reich of Dreams
& 4. The rise and fall of Third Reich

Question ID : 162653119

Q.9 Which of the following was the demand of the liberals in Russia along with peasants and workers in 19057

Ans 1. Democracy

' 2. Constitution
# 3. Land of peasants

& 4 Land of landlords

Question ID : 162653115

Q.10 The rogamme of the Nazis where in the properties of the Jews were vandalised and looted. houses of Jews were attacked.
synagogues wers bumt, and men arrested was referred to as:

Ans X 1. The art of propaganda
#< 2. The National Socialist Programme

#< 3. The Nuremberg Laws 1935

W
The Night of Broken Glass in November 1938

Question ID : 162653120

Q11 Who were mockingly called as ‘November Criminals’?
Ans  of 1. Socialists, Catholics and Democrats

& 2. Jews, Gypsies and Physically enabled

/< 3. Socialists, Nazis and Democrats

/< 4 Radicals, Liberals and Conservatives

Question ID : 162653122

Q.12 Via which of the following Indian coasts was a vibrant sea trade to the Guif and Red Sea ports operated through the
main pre-colonial pons?

Ans 1. Hoogly in Bengal
#< 2. Masulipatnam on Coromandel coast
« 3. Surat on Gujarat coast

/< 4 Bombay

Question ID : 162653105

Q.13 In which year was the Tripartite pact between Italy, Japan and Germany signed?
Ans X1, 1941

Question ID : 162653123




X 2. 1938
W 3 1940
< 4 1939

Q.14 Who had led the revolution that brought down the Russian Monarchy in February 19172
Ans x 1. I\-‘ﬁli’[ﬁl’}’

& 2 Land lords

X 3. Tsar

o 2. Petrograd

Question ID : 162653116

Q.15 In 1851, who deseribed Awadh as “a cherry that will drop into our mouth one day™?
Ans 1. Lord William Bentick
/< 2. John Macpherson

' 3 Lord Dalhousie
/< 4 Richard Wellesley

Question ID : 162653109

Q.16 What was the percentage of women factory lebour force in Russia by 19142

Ans 3" 1. 28 percent
o 2. 31 percent
/< 3. 38 percent
/< 4. 35 percent

Question ID : 162653114

Q.17 Withregard to the French Revolution, which among the following had reworked the sovereizn nation state by
redefining the idea of freedom from the bondage into a movement?

Ans - X 1. Nobles
& 2. Jacobians
# 3. Socialists
' 2 Colonised people

Question ID : 162653108

Q.18 @ 1772 whe was the company official who had ventured 1o say that “the demand for Indian textiles could never reduce.
since no other aation produced zoods of the same qaality™?

Ans X 1. Warren Hastings
#< 2. Robert Clive
# 3. Cornwallis
« 2 Henry Patullo

Question ID : 162653104

Q.19 Many Indians zot inspired by the Russian Revolution and wrote an the Soviet Socialism. Who amons the following
authars wrote, in Hindi, in1920-21, on Russian Revolution, Lenin’s life and thoughts, and later the Red Revolution?

Ans  of 1 Jawaharlal Nehru
& 2 R.S. Avasthi
& 3. S8.D. Vidyalankar

/< 4 Rabindranath Tagore

Question ID : 162653118

Q.20 Marx believed that to free Ives from the capitali
all property was socially controlled.

ion, workers had to construct a society where

Question ID : 162653117




Ans 1. revolutionary socialist
< 2. capitalist
o 3. radically socialist

X 4 socialist cooperative

Section : Subject Related

Q.1 Agenda 21 is the decleration signed by world leaders at . which took place at Rio de Janeiro, Brazil.
Ans x 1. UNDP Question ID : 162653142
. ¥
v 2. UNCED
< 3. UNFPA
& 4 UNODC

Q.2 What is the fotal length of the coastline of India’s mainland. including Andaman and Nicobar?

Question ID : 162653134
Ans X" 1. 11.290.7 km

W 2 7.516.6km
/< 3 7.520.8km
X 4 7.546.7 km

Q.3 The place where Northeast and Southeast trade winds converge is called as: .
Question ID : 162653130

Ans

# 1. Oceanic continental convergence zone
X 2. Continental convergence zone
o 2 Inter tropical convergence zone

#< 4. Oceanic and oceanic convergence zone

Q.4 The part of Himalayas lying between Sutlej and Kali rivers is known as: .
Question ID : 162653135

Ans

« 1. Punjab Himalayas

2 Himachal Himalayas
< 3. Kumaon Himalayas
< 4 Assam Himalayas

Q.5 The change of population in a particular area between two points of time is known as:

Question ID : 162653138
Ans 1. Migration

/< 2. Natural growth of population
« 3. Growth of population
/< 4 Growth percentage of population

Q.6 Theaxis of the Earth. which is an imaginary line, makes an angel of with its orbital plane.

A : Question ID : 162653126
ns X 1. 64 degree

o 2. 66 degree




/< 3. 68 degree
X 4. 65 degree

Q.7 What among the following is essential for the sustained quality of life and global peace?
Ans - X 1. Production of resources
#< 2. Distribution of resources

# 3. Utility of resources
« 2 Equitable distribution of resources

Question ID : 162653141

Q8 India lies inthe regionof  winds.
Ans  of 1. north easterlies

& 2. periodic

< 3. westerlies

X 4. local

Question ID : 162653132

Q.9 What isthe name of the periodic development of a warm ocean current along the coast of Peru as a temporary
replacement of Peruvian current?

Ans X 1. Jet stream
v 2. El nino
X 3. Westerly winds
& 4 Coriolis force

Question ID : 162653129

Q10 Biack soils are generally poor in content.

Ans X 1. Lime
X 2. Magnesium
«' 3. Phosphoric
& 4 Potash

Question ID : 162653136

Q'1 1 Whatis name of the boundary between India and the Antarctic plate marked by the sceanic ridge nuaning in roughly W
— E and merging into spreading site. a little south of New Zealand?

Ans

/< 1. Convergent boundary

< 2. Transform boundary
#< 3. Ocean convergent boundary

« 2 Divergent boundary

Question ID : 162653128

Q_1 2 The temperate forests and gmsslands give way to what type of vegetation at high altitudes, which is generally more than
3,600 m above sea level?

Ans % 1. Tundra vegetation
/< 2. Perennial grasses

# 3. Shrubs
o 2 Alpine vegetation

Question ID : 162653137

Q.13 What is the local time difference between Dwarka in Gujarat to Dibrughar in Assam?

Ans

Question ID : 162653127




' 1. 1 hour 45 minutes
& 2. 1 hour 05 minutes
# 3. 1 hour 15 minutes
# 4.1 hour 19 minutes

Q.14 Which of the following is the name the three stages of demographic transition theory?

Ans 1. Rural agrarian, literacy. high death rates
#< 2. High birth rates. literacy, low birth rates
#< 3. High death rates, literacy. high birth rates
v &

Rural agrarian, demographic transition, urban industrial

Question ID : 162653139

Q.15 Identify the diversion channels built by the people of Western Himalayan region for agriculture.

Ans X 1. Tankas
+ 2. Kuls and guls
& 3. Khadins
# 4. Johads

Question ID : 162653143

Q.16 How can swimmers float in the water of the Dead Sea in Israsl?

Ans X 1. Due to lack of salinity
# 2. Due to the presence of calcium

< 3. Because of presence of potassium

W

Because of presence of increased amounts of salt

Question ID : 162653133

Q.‘] 7 Who suggested that the movement responsible for the drifting of the continents was caused by pole-flesing force and
tidal foree?

Ans X 1. Arthur Holmes® Convection Current Theory

7~ 2
Continental Drift Theory by Frank Bursley Taylor

& 3. Abraham Ortelius Theory
o 4 Wegener’s Continental Drift Theory

Question ID : 162653125

Q.18 Which of the famous constellations can be seen during summer in the early part of the night?

Ans X 1. Qrion
o 2. Ursa Major
< 3. Leo Major
& 4 Great Bear

Question ID : 162653124

Q.19 What is the main aim of the National Population Policy, 2000?

Ans X 1. Developing child-oriented programmes

#< 2. An Adolescents programme

Question ID : 162653140




/< 3. Developing female-oriented programmes

v &

Making family welfare as people-centred programme

Q20 WWhat is Continentality?

Ans

F 0

The experience of extreme weather conditions due to higher altitudes

K 2

The experience of extreme weather conditions due to lower altitudes

& 3

The experience of extreme weather conditions due to distance from rivers

W

The experience of extreine weather conditions due to distance from the sea

Question ID : 162653131

Section : Subject Related

Q.1 Which among the following is the highest quality hard coal? Question ID : 162653145
Ans - X 1. Bituminous

v 2. Anthracite

# 3. Hematite

X 4 Lignite
Q.2

‘What is the name of the National Highway no.1?

Question ID : 162653151

Ans o 1. Sher Shah Suri Marg
< 2. Durgapur expressway
& 3. Dibrugarh to Tuipang Road
/< 4 APCRDA ‘Greenway’
Q.3 The industries that produce raw materials for the other industries are known as:

Ans

/< 1. Unorganised sectors
& 2 Small scale industries
+ 3 Basic industries

# 4 Footloose industries

Question ID : 162653163

Q.4

Ans

Which one of the following is the nuclear power plant in Karnataka?
/< 1. Tarapur
o 2. Kalpakkam
& 3. Kaiga
& 4 Naraura

Question ID : 162653153

Q.5
Ans

‘What is the length of the pipeline that was constructed to connect Salaya (CGujarat) with Mathura (UF)?

X 1. 1248 km

Question ID : 162653152




W 2 1256 km
& 3 1265 km
X 4 1280 km

Q.6
Ans

Identify the state in which the three paddy crops. Aus. Aman and Boro, are grown.
# 1. Uttar Pradesh

/< 2. Harvana
#< 3. Telangana
v 4 Assam

|

Question ID : 162653146

Q.7

Ans

On the basis of ownership, industries are classified into:
< 1. Metallurgical, mechanical and electrical

& 2. Small scale and large scale

X 3
Agricultural-based, forest-based, mineral-based

W

Public sector, private sector, and joint and cooperative sector

Question ID : 162653150

Q.8 The oaly country in the warld to officially proclaim the Gross National Happiness as the measure of the country’s
PIDgressis: Question ID : 162653161
Ans X 1. Indonesia
X 2 Singapore
& 3. India
v 4 Bhutan
Q.9

Ans

Which port is known as ‘Queen of Arabian Sea'?
« 1. Kochchi port
X 2. Marmagao port
# 3. Kandla port
X 4 Mumbai port

Question ID : 162653159

Q.10

Ans

Who among the following is the leading producer of coffee?
& 1. Brazil
v 2. Columbia
X 3. Sri Lanka
& 4 India

Question ID : 162653148

Q.11

Ans

What was the purpose of the Industrial Policy Resolution of 19562
< 1. Trade policy
# 2. Sustained development

& 3. Small scale industries

Question ID : 162653162




« 4 Regional equality

Q.12 While determiring the povesty line in India, & minimum requirement of food wes taken into consideration, What is the
: ; 2 5 )
amsgeteqlummtofcaloﬂe&pa‘pmmperdaymmﬂ areas’ QueStlon ID 1626531 55

Ans  of 1. 2400 calories
# 2. 2300 calories
& 3. 2100 calories
& 4. 2200 calories

Q.13 The major criterion considered by the World Development Report - 2006, published by the World Bank to clissify the
SO, Question ID : 162653160

Ans 1. Gross Domestic Product (GDP)
x 2 National income
' 3. Per capita income
X 4 Health

Q'14 Namnl;zpmgmmuethatpwmisa 100 days of d wage employ to all rural b holds who volumteer to
0 MRS R O Question ID : 162653156

Ans X 1. PMRY
X 2 PMEGP
v 3 NREGA
X 4 REGP

Q15 N ; o 5
Minerals occur in in igneous and metamorphic rocks. Question ID : 162653144

Ans  of 1 Jodes
X 2 beds

& 3. layers

& 4 residual mass

Q16 mute grows well on which type of soil? Question ID : 162653147
Ans X 1. Black soil
< 2 Red soil

v 3 Alluvial soil
& 4 Yellow soil

Q.17 Disasters are classified into four types. Floods come under which type of disaster?
Question ID : 162653154

Ans - X 1. Terrestrial
X 2 Biological
o 3. Aquatic
X 4 Atmospheric

Q.‘l 8 o szgmi'yﬁ:e achievements of the Green Revolution. a stamp was released by the then Prime Minister Mrs. Indira
R s et Question ID : 162653157

Ans  f 1. “Wheat Revolution® in July 1968
& 2 ‘Green Revolution’ in June 1967




/< 3. ‘Rice Revolution” in September 1965
& 4 “Yellow Revolution® in March 1966

Q.19 The stocks of wheat and rice are procured by the government to have a buffer stock. This is done via:

Ans  of 1. Banks
#< 2. Public distribution system

# 3. Cooperative societies

/< 4. Food Corporation of India

Question ID : 162653158

Q.20 In which year was the Salem steel plant in Tamil Nadu commissioned?

Ans - X 1. 1992
X 21952
v 31982
X 4 1972

Question ID : 162653149

Section : Subject Related

Q.1 What is the significance of the civil rights movement in the USA that was carried on betwesn 1954-19687

Ans ¢ 1. It was a movement against black power

K 2

It was a movement against communal discrimination

/< 3.

It was a movement against religious discrimination

v &

It was a movement against racially discriminatory laws

Question ID : 162653176

QZ All those private sector establishments and the public sector establishments that employ L0 or more hired workers are
called:

Ans  of 1. Formal sector establishments
& 2. Trade unions
& 3. Private sector establishments
& 4. Public sector establishments

Question ID : 162653164

Q.3  Asituation when it becomes a burden for the lender to repay the loan and needs to borrower a new loan to pay the
existmg is called .

Ans X 1. Demand Draft
o 2. Debt Trap

& 3. Terms of Credit
X 4 Medium of exchange

Question ID : 162653169

Q.4 Changing theallegiance from the party, on whose ficket one gets elected, 1o some other party is known os:
Ans  of 1. Defection

& 2 Alien

< 3. Loyalist

Question ID : 162653179




& 4 Partisan

Q5 Who founded the Bahujan Samaj Party in 10847 Question ID - 162653178
Ans 1. Mahatma Phule
v 2. Kanshi Ram
& 3. Sahu Maharaj
& 4 Periyar Ramaswami Naicker
Q.6  Anassef that 2 barrower owns and uses the same as a guarantes to a lender until the loan is repaid is known as:
Ans x N Deposit Question ID : 162653166
# 2 Guarantee
s Collateral
X 4 Mortgage
Q.7 Which among the following countries is an example of two-party system? Question ID : 162653180
Ans X 1. India
' 2. United Kingdom
3. China
& 4 Belgium
Q8 Who was the founder of Grameen Banks in Bangladesh? Question D - 162653167
Ans 1. Mary Houghton
# 2 Babul Saha
v 3. Prof. Mohammad Yunus
< 4. Mr. Bhuvanendra Takoor
Q.9 Between 1570 and 1993, how many times did the Belgium leaders amend their censtitution and in relation to what? .
Ans o 1 4 times: To enable everyone to live in unity uestion® Tezesstr
& 2. 5 times:; Autonomy
& 3. 3 times; Unity in diversity
/< 4. 2 times; Equal representation
Q10 What is the essential feature of a barter system? Question D - 162653165
Ans X 1. Awailability of goods
/< 2. Demand for goods
< 3. Desire for the goods
v 4 Double coincidence of wants
Q.11 Those social differences that create possibilities of deep social differences are called: Question ID : 162653177

Ans

< 1. Diversity




W 2. Overlapping differences
< 3. Crosscutting differences
& 4 Social division

Q.12 Name the language spokcen by the majority of the population in Belgium’s capital city.
Ans 1. Spanish

v 2 French

< 3. Dutch

& 4 German

Question ID : 162653172

Q.13 Al the candidates contesting elections have to provide information to the election commission regarding the details of
their property end criminal cases pending against thers. Sach a declaration is called:

Ans 3 1. Documents
& 2. Affirmation
W 3 Affidavit

X 4 Election manifesto

Question ID : 162653182

Q.14 Inwhich year's elections the Janata Dal had promised the implementation of Mandal Commission Report in its
Manifesto?

Ans - X 1.1962
v 2 1989
& 31990
X 4 1972

Question ID : 162653173

Q15 How many members are there in a typical SHG?

Ans X' 1. 1510 25
X< 2 1010 20
X 3 10to 15
v 4 1510 20

Question ID : 162653168

Q.16 Identify the country from the following, which has ‘coming together® federation.
Ans - X 1. India

< 2. Spain

V'3 UsA

< 4 Belgium

Question ID : 162653174

Q17 What is the name of the Israel’s legislature?
Ans o 1. Knesset

& 2 Duma

/< 3. Parliament

# 4 National Assembly

Question ID : 162653181

Q.18 When was the The Treaty of Chaguaramas signed by the independent islands of West Indies to establish joint
authorities?

Ans 5 1. 1068

Question ID : 162653175




2 1973
& 3 1962
& 41971

Q.19 Inwhich form of power sharing do we find the arrangement of the system of checks end balances?

Ans X1_

Question ID : 162653170

Power sharing among different social groups

52

Power sharing among different political parties
« 3 Horizontal form of power sharing

#< 4. Vertical form of power sharing

Q20 What is the guiding principle of the political party CPI?

Question ID : 162653183

Ans - X 1. Hindutva
/< 2. Religious minorities
v 2 Marxism — Leninism
& 4 Gandhian Secularism

Section : Subject Related

Q.1 Whesaid this “The Constituent Assembly alone can produce 2 Constitution indigencus to the country and truly and
fully representmg the will of the people™

Question ID : 162653191

Ans X 1. Jawaharlal Nehru
v 2. Mahatma Gandhi
/< 3. Dr. BR. Ambedkar
X 4 Dr. Sarvepalli RadhaKrishnan

Q.2 studies on dignity and freedom of citizens in democracy show that:

Ans K1,

Question ID : 162653185

Promoting dignity and inequalities among individuals
+ 2. Promoting dignity and individual freedom
< s

Promoting dignity among men and inequalities among women

# 4 Promoting inequalities among communities

Q3 What does [RDP stand for?

Question ID : 162653190

Ans X 1. Integrated Rural Democracy Project
& 2. Integrated Rural Development Project

' 3 Integrated Rural Development Programme

<4
International Rural Development Programme




Q.4

Ans

‘When did General Pervez Musharraf lead a military coup in Pakistan? l

Question ID : 162653184

#< 1. March 1996
v 2 October 1999
/< 3. August 1997

X 4 June 1989

Q.5

Ans

What does BAMCEF stand for?

Question ID : 162653188

<

Bangladesh Muslim Community Employers Federation

K 2

Backward and Muslim Community Employees Federation

X 3
Bhutan Mineral Corporation Emplover Federation

v &

Backward and Minority Communities Emplovees Federation

Q.6
Ans

After the April 2006 popular movement. who was chosen as the new Prime Minister of Nepal by SPAT

# 1. Baburam Bhattarai

Question ID : 162653187

o 2. Girija Prasad Koirala
# 3. King Gyanendra
X 4 Madhav Kumar Nepal

Q.7

Ans

The Supreme cour! can declare any law of legishiture as invalid and can determine the constitutional validity of any law
or action of the executive in the country when it is challenged. This is called as:

Question ID : 162653192

X 1. Integrated judiciary
& 2 Guardian

v 2 Judicial review

#< 4 Impeachment

Q.8

Ans

Which type of challenge do established democracies face?

Question ID : 162653186

#< 1. Elimination of democracy
X 2. Instituting democratic government
& 3. Transition of democracy

+ 2 Expansion of democracy

Q.9
Ans

‘Which among the following is the constinutional amendment act on Panchayat Raj Institutions?

Question ID : 162653189

X 1. 64™ amendment act
v 2. 737 amendment act
< 3 46™ amendment act
& 4 74™ amendment act

Q.10

For the enfercement of the fnd 1 rights, the S Court and High Courts have the power 10 issue dirdetions, [
ordets ot 1

Question ID : 162653193




Ans

< 1. public interest litigations
/< 2. petitions

< 3 laws

v 4 writs

Q.11

Ans

The document that sets the standards of Curriculum is:
X 1. Syllabus

& 2. Organizational curriculum
X 3. Theory of curriculum

o 4 Curriculum frame work

Question ID

1162653201

Q.12

Ans

Visual and hearing impairment child comes under:
& 1. Intellectually challenged child
o 2. Special child
# 3. Handicapped child
X 4. Locomotor impaired child

Question ID

1162653203

Q.13

Ans

‘Which country has long history of formal education institution?

&< 1. Australia
X 2. England
v 2 India

& 4 America

Question ID :

162653195

Q.14

Ans

*“Vocabulary development™ is an essential component of:
X 1. Writing skills
X 2 Listening skill
« 3. Reading instructions
X< 4 Language skills

Question ID

1162653200

Q.15

Ans

Reading and writing learners learn best:
< 1. When they are reciting in class
# 2. When they are attending regular tests
o 3. When they are interacting with texts
/< 4 When art is integrated in learning

Question ID :

162653197

Q.16

Ans

‘Who 1s an auditory learner from the following?
1. Who is interacting with texts
~ 2

Who will jump at the chance to participate in a hands-on activity

Question ID

1162653196




< s
Who prefers to see the information for learning
v &

Who remembers the information, reciting it back to the presenter

Q.17 Which is the most influential factor with regard to zender identity in early childhood?
Ans X 1. School environment

o' 2. Parents. family members and care givers

/< 3. Other children
& 4 Movies and books

Question ID : 162653194

Q.18 In addition to academic needs, following is required for adolescent students:

Ans X 1. To equip with latest teaching gadgets
v &)
To Address emotional and motivational needs
X 3. To explain gender discrimination

# 4 Beautiful learning environment

Question ID : 162653198

Q19 The real goal of education is:
Ans X 1. Get good prospects
2. Become good citizen
' 3. Learning to learn

X 4 Gaining awareness

Question ID : 162653202

Q20 “Gender™ is a social difference whereas “sex” is a:
Ans - X 1. Cultural difference

& 2. Traditional difference

+' 2 Biological difference

& 4 Sensitive difference

Question ID : 162653199
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Section : General Awareness

Q.1

Ans
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Question ID : 16794319213

Q.2
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Question ID : 16794319204

Q.3
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Question ID : 16794319216

Q.4

Ans

st Rwew 7w fve mw & 9 =0

R T N AT TR i, Ea 39 ogen AfeT §, $0 wfteis stwdl & B @
EEcoict il

X 1. 1956
v 2 1957
X 3. 1959
X 4 1958

Question ID : 16794319203

Ans

3frm fweT T R T S

EEERAISE ¥ 0T I ¥ 7T s e st wise R am
X 1. 2014

v 2 2016

X 3 2015

X 4 2013

Question ID : 16794319214
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Q.7
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Question ID : 16794319206
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Question ID : 16794319205
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Q13 fareT voraToT BT - 2018 &1 f&@wy a1 ar? Question ID : 16794319220
e K AR, @r=a. seEd

X 2wt # wpia @ S

V> CefRe TENUT AR

X 4 FIA HETSH 3B PR T AT
Q.14 Fillinthe blank with the most ppropriae opicn.

In 2018, scientsts have directly observed definitive evidence of ice on the Moon's surface particularly with the help of
the data collectzd by .

Question ID : 16794319219

Ans X 1. Clementine
< 2. Lunar Reconnaissance Orbiter
+ 3. Chandrayaan-1
/< 4 Lunar Prospector
Q.15 Which ofthe following statement is incorrect in regard to Geographical Indication (GI) of Goods?

Ans

&
Is covered as an element of Intellectual Property Rights

< 2 Is related to place of origin of goods
W 3

Does not possess the qualities of the product that are due to the origin
>~ 4

Is a sign used on products having specific origin

Question ID : 16794319212
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Question ID : 16794319209

Q19 Fill in the blank with the most appropriate option.

The acronym STT stands for ‘Securities Tax’.
Ans - X 1. Transfer
X 2 Trading
v . Transaction

& 4 Transit

Question ID : 16794319215

Q.20 mmm,mmm:um-mma:mﬁmmﬁﬁmgu
Ans 1. 1931

v 21912

X 31921

X 4 1935

Question ID : 16794319202

Section : Arithmetic Ability

Q.1 A B # 25% =o7 § 7=t C, D ¥ 25% aifirs ¥ =iz D, A % 10% =w &, @ frwr & & wtww wer
Fad

ans X116 A=9C
X227C=328B
X316 C=9A
v+32C=278B

Question ID : 16794319227
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Question ID : 16794319226

Q.4

Ans

[
i
5 bt
e b
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L | =
[ ]
O Ll

=
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=n
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13
— T AT &L &
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X 3
F

05 TR U % 1 B S N (Y

Question ID : 16794319224

Q.5

Ans

Ay S AR A TE AT T e e g 6, 9,12 15 #HU 18, ¥ M dH W yHE W A
INEH 4 TS @7 § S ¢ F 14 F |57 B s & dwws i

X8
V26
X3 11
X 410

Question ID : 16794319225

Q.6

Ans

Il'ﬁ'a—\fg_2 B-ﬁTbZ\EH %Fﬂ'm IGETr-gN

T B4z fough a?+ab+b?

X 1.0.89
X 2 0.09
X 3 0.59
v 4 0.99

Question ID : 16794319223

Q.7

Ans

ABRBiE sy A i oS s s e s
B st 49 w1 S G

X1.3§ﬁ-rrfr

v23fRa#d
Xs2fm#A

Question ID : 16794319237




X4.5§ﬁ-rrfr

Q.8 Tt = 3rowy WTEE 3T ST 15% TR IETIRAE F I w7 feew G sy svor F ST e
g wgw frar 3T 2700 & vE war g & S g F & serEns gEdr i # 20% it ) e
mit & g 7 979 & & fenaT T o s 10% 87

Ans X1 F 255
X2 T 240
X3 % 270
v T 225

Question ID : 16794319228

Q.9 F 7= T W v T w7 T o # o wwer § o seE auw @ B sh wmer £
T 3T A O T T ST 8 ¢ 5 W e §1 IR S fr s 8wl ¥ A e
Foae (B0 #)

Ans X 12887
X2 108%
v 967
X 41927

Question ID : 16794319234

Q.10

(1.8)*+(4.5)*+(3.7)*—13.5x6.66 5.
(1.8)24+(435)24+13.69-8.1-16.65—3x2.22

Ans 1. 4
v 210
X301
X 4100

Question ID : 16794319222

Q.11 = fram =eait = 3% 3= g o7 10% $ gz w7 i ¥ ol =% 15% =y ov #= 2 B
afey o Swst # T 2070, # dwen ¥, A wEpt @ sifew e b

Ans 1. F 1600
X 2 T 1800
v 2 T 2000
X 4 T 2400

Question ID : 16794319230

Q.12 m=mar 2 Fwgait =71 T 450 & WiEAT & H TF F 28% FE 0 AW GO F 12% TH W I L
afy @t TEgEt w Rwweg @A @ S FEEE A A e §7

Ans  of 1.Z 100
X2 %180
X3 780
X4 Z90

Question ID : 16794319229

Q.13 o= orw & snw o R TR 72 5 ¥ O L s B wwE sAe & o e
ST | 5 ST Wow O # T AT 3w S 67

Ans X 1.2-3
v21:1
X33:2
X45:7

Question ID : 16794319232




Q.14 & g & 773 & 95 qU, UF TS TEEES. 25 O W4 T O T S F| §Ew A 9 ud
# = w0 & v 3w of7 & Ge v £ 30 & I

Question ID : 16794319238

Ans 1
X1 54—
4
1
V2 56—
4

X 3 50
X 4 54

Q.15 mﬁ#mmm#a@wmﬁgﬁaﬁmﬁﬁvq R R anF
fvge 5 Pl g mw awa F 22 6 s ¥ wet o S & ez 18 Rl & gh e

Question ID : 16794319239

Fa & AT e 99T (98 #) ST

Ans “1. 6
X2 4

3
3. g
5

1
O
2

Q.16 sy a7 . & vw b 10% ofF @ W 12 74 & fv sum @ s s atE FoE
FHE F o T & el I &R W A wAT F BT sur & woaus andeiis wOifEe am of sw
T & Zar & o T &y Tt # T 4005, WIET E ATy moAw w7

Question ID : 16794319233

Ans 1. 16000
v 2 T 15600
X 3. T 15800
X 4 T 15400

2 45 . 3 5.6
Q.17 f5451=ﬁwma,amuc#5;-s-:g sm#mammwmﬁwm;;;:;,t

e A aie fwn T geF 9o EE

Question ID : 16794319231

M XK B 3R C ¥ st F s wd g
X2B & T 117 &7 Fer

X3 A @ T 430 e e
viC #7319 w1 Ae

Q.18 w 7ew 317 4 ANt Fwww vk w1 F 7 fF F 9@ W A {74 30 wE a5 gow it v
M A U RE A R TR N a2 e A A ¥ B 7 o & owy e
ARENH F FH FA FANT

Question ID : 16794319236

Ans X1 8
v 1
K37
X412

Comprehension:




o T-=re 3 AR # eTAT FIF 31 AT

M*x’#ﬁﬁmmﬁﬁmmmmm
e

A BB 2C oD WE uF

FHAET HT Fol GEIT = 3600

E ey GRS AigemT
A 5 4
B 4 3
& 7 9
D 5 7
E 11 : 13
F 6 5

SubQuestion No : 19

Q.1 /W B aw E # 5= f&om 7 FA=NE 1 §&0 & 777 B, D 7w F & 7 Afgar sA=ifwt £

9 FEW F FEE E Question ID : 16794319241
Ans X 1.4 : 5

X25:6

v:3:4

K+2:3

Comprehension:




fars - Al gnoh & aewEE FIF 3oae T

M*x’ﬁﬁﬁmmaimﬁmﬁﬂmnﬁnmiﬁm
e

A BB sC aD WE mF

FHAET HT Fol GEIT = 3600

CCirg GRS AfgemT
A 5 4
B 4 3
& 7 9
D 5 7
E 11 : 13
F 6 5

SubQuestion No : 20

VA AR AfgeT FHE=ET 1 JE=ar, 397 C Question ID : 16794319242

T E H FoT FHANDT HN TEAT § T
e gfoera 27
Ans 1. 27 6%
v 2 28.9%
X 3 30.2%
X 4 28.4%

Section : General English

Q1 Inthe follquins sentence, scme part of the sentence may contain an error. [dentify which part it is and indicate it, If the
Sarmmiedl 6 corones Khonse a0 IOE Question ID : 16794319250

A rice crop | soaked by acid rain / can be saved | if it is rinsed with clean water / No error

Ans X' 1. can be saved




/< 2. ifit is rinsed with clean water
« 3 No error
& 4. soaked by acid rain

Q2 Change the voice of the below sentence.

Sheila replied, “The blue saree suits you the best™.
Ans ¢ 1.

Sheila replied that the blue saree suited me the best.

K 2
Sheila preferred the blue saree to all the others.

K 3

Sheila thought the blue saree was most suitable.

K 4
Sheila expressed her preference for the blue saree.

Question ID : 16794319248

Q.3 Rearrange the sentence fragments below in the correct order to form a meaningful sentence.

A) The law has halted the development of
B) The oil and gas industry has complained that
C) Millions of acres of land

Ans X 1. ABC
v 2 BAC
< 3. CAB
X 4 ACB

Question ID : 16794319246

Q.4 Fill in the blank with the most appropriate option.

Before money, banks have to assess the risks involved.

Ans X1 lend
« 2. lending

< 3. borrowing
X 4 they lent

Question ID : 16794319253

Q.5 Suybstitute the phrase below with one word from the options provided.

Something no longer in use
Ans o 1. Obsolete

< 2. Primitive

/< 3. Absolute

& 4 Desolate

Question ID : 16794319257

Q.6 Fill in the blank with the most appropriate option.

I cut my finger while slicing onions and it became badly

Ans  of 1 infected

Question ID : 16794319251




& 2. affected
X 3. effected
X 4 diseased

Q.7 Inthe following question, choose the option that best expresses the meaning of the word provided,
Disrupt
Ans  of 1. Disturb
X 2. Spoil
& 3. Throw
&K 4 Tear

Question ID : 16794319244

Q.8 Fill in the blank with the most appropriate option.
She has always gone creative hobbies like knitting and pottery.
Ans 1. into
x 2. b}f
/< 3. through
v 4 in for

Question ID : 16794319252

Q.9 Fill in the blank with the most approprizte option.

“Fifty years ago. we could not cee limits to what we could into the ocesn, or what we could take ouf’” {Dr.

Svlvia Earle, Oceanographer) .
Ans - X 1. recycle

o 2. put
X 3 accept
< 4. dispose

Question ID : 16794319243

Q.10 Substitute the phrase below with one word from the options provided.
Words written on a tomb
Ans 1. Epigraph
& 2. Soliloquy
#< 3. Epithet
« 2 Epitaph

Question ID : 16794319256

Q.11 Choose the option that best defines the word in capital letters.

ALACRITY
Ans 1. Anxious awareness of danger

& 2. Unwilling to spend money

« . Brisk and cheerful readiness
& 4 Lacking fairness or justice

Question ID : 16794319255

Q.12

Question ID : 16794319254




Ans

‘Which of the options is closest in meaning to the word below?

Punctilious

& 1. unceremonious
' 2. scrupulous

/< 3. punctual

& 4 informal

Q.13 In the following question. choose the option that is opposite in meaning to the word provided.

Conversant

Ans  of 1. Ignorant

& 2. Quiet
< 3. Knowledgeable
#< 4. Talkative

Question ID : 16794319245

Q.14

Change the voice of the below sentence.

The force of the wind turned the leaves upside down.

Ans «1,

The leaves were turned upside down by the force of the wind.

>~ 2

Turning the leaves upside down was caused by the force of the wind.
& 3. The leaves turning upside down.
F

The force of the wind turning the leaves upside down.

Question ID : 16794319247

Ans

Q.15 What oft quoted phrase would apply to someonz who says, “I don’t need anyone to help me get where I want to go."7

+ 1. No man is an island.
# 2. Not man is one island.
#< 3. No man is on an island.

# 4 No men are islands.

Question ID : 16794319249

Comprehension:

Read the following passage and answer the questions given after it.

India is urbanising faster than its urban planners can handle. We are

building roads, bridges, fly-overs, factories, commercial complexes and

also building and renovating our homes and residential properties. But

we do not pay sufficient heed to the construction and demolition

(C&D) waste we generate, for example, bricks, concrete, stones, hard

core subsoil, topsoil, timber, glass, gypsum, ceramics and also plastics.

Neglecting this waste has consequences for public health as well as the

environment.




There is no agreement on the volume of C&D waste. The Ministry of
Environment, Forests and Climate Change in 2010, put the annual
estimate of C&D waste at 10-12 million tonnes. The Central Pollution
Control Board settled for 12 million tonnes in 2011, but its Guidelines
Document of 2017 has upped the estimate to 25-30 million tonnes,
based on information from the Ministry of Urban Development. The
Centre for Science and Environment swung to the other extreme and
estimated C&D waste at a humongous 530 million tonnes for 2013, as
they included the waste from renovations/repairs, assuming that one-
third of the existing stock of buildings carried out renovations/repairs in
2013.

The most recent annual estimate of C&D waste in Indian cities is 165-
175 million tonnes, jointly prepared for the period 2005 to 2013, by
two government agencies, the Building Materials and Technology
Promotion Council, and the Centre for Fly Ash Research and
Management. This waste is dumped illegally on vacant sites, on the
sides of highways, below fly-overs, beside lakes and rivers, in other
low-lying areas and open storm water drains. Delhi and Bengaluru
provide glaring examples of this practice, commonly known as “fly-
tipping”. In Bengaluru, C&D waste is increasingly being used to
encroach on lake-bed land for construction.

Delhi’s air pollution is in no small measure due to the high presence of
particulate matter (PM 2.5 and PM 10), resulting from the construction
debris strewn around the city. Water logging, with all its adverse
impact on public health and the environment, is another consequence as
the runoff from smooth surfaces is trapped in the debris.

Other countries have faced similar challenges and have done something
about it. Germany faced huge issues in disposing of the post-war bomb
rubble. Stuttgart solved this problem by creating a mini-hillock outside
the town which is now a recreational hand-gliding spot. While C&D

waste was earlier typically sent to dump sites in many countries, in the
past 20 years or so there has been a greater appreciation of the reuse

and recycling possibilities of the waste into construction material
(recycled aggregate concrete, manufactured sand, etc.) and its

implication for the conservation of natural resources.




SubQuestion No : 16

°6'1 According tc‘a the author the latest thinking about Question ID : 16794319263
C&D waste 1s to:

Ans 3 1. spread it in the lake bed to reclaim land
#< 2. create a mini hill as a recreational site
o 3. recycle it to use as construction material
#< 4 send it to the dumping sites

Comprehension:

Read the following passage and answer the questions given after it.

India is urbanising faster than its urban planners can handle. We are
building roads, bridges, fly-overs, factories, commercial complexes and
also building and renovating our homes and residential properties. But
we do not pay sufficient heed to the construction and demolition
(C&D) waste we generate, for example, bricks, concrete, stones, hard
core subsoil, topsoil, timber, glass, gypsum, ceramics and also plastics.
Neglecting this waste has consequences for public health as well as the
environment.

There is no agreement on the volume of C&D waste. The Ministry of
Environment, Forests and Climate Change in 2010, put the annual
estimate of C&D waste at 10-12 million tonnes. The Central Pollution
Control Board settled for 12 million tonnes in 2011, but its Guidelines
Document of 2017 has upped the estimate to 25-30 million tonnes,
based on information from the Ministry of Urban Development. The
Centre for Science and Environment swung to the other extreme and
estimated C&D waste at a humongous 530 million tonnes for 2013, as
they included the waste from renovations/repairs, assuming that one-
third of the existing stock of buildings carried out renovations/repairs in
2013.

The most recent annual estimate of C&D waste in Indian cities is 165-
175 million tonnes, jointly prepared for the period 2005 to 2013, by
two government agencies, the Building Materials and Technology
Promotion Council, and the Centre for Fly Ash Research and
Management. This waste is dumped illegally on vacant sites, on the
sides of highways, below fly-overs, beside lakes and rivers, in other
low-lying areas and open storm water drains. Delhi and Bengaluru

provide glaring examples of this practice, commonly known as “fly-




tipping”. In Bengaluru, C&D waste is increasingly being used to
encroach on lake-bed land for construction.

Delhi’s air pollution is in no small measure due to the high presence of
particulate matter (PM 2.5 and PM 10), resulting from the construction
debris strewn around the city. Water logging, with all its adverse
impact on public health and the environment, is another consequence as
the runoff from smooth surfaces is trapped in the debris.

Other countries have faced similar challenges and have done something
about it. Germany faced huge issues in disposing of the post-war bomb
rubble. Stuttgart solved this problem by creating a mini-hillock outside
the town which is now a recreational hand-gliding spot. While C&D

waste was earlier typically sent to dump sites in many countries, in the
past 20 vears or so there has been a greater appreciation of the reuse

and recycling possibilities of the waste into construction material
(recycled aggregate concrete, manufactured sand, etc.) and its

implication for the conservation of natural resources.

SubQuestion No : 17

g : i :
@1 In Delhi the C&D waste creates: Question ID 16704319262

a. water logging as the water gets trapped under
the debris.

b. fly-tipping as the waste is dumped on vacant
sites, under the fly-overs etc.

c. air pollution due to the presence of particulate
matter the waste.

Of the above which are correct?
Ans  of 1. 3 and c are true

X 2 cand b are true

X 3 aandb are true

X 4 a band c all are true

Comprehension:

Read the following passage and answer the questions given after it.

India is urbanising faster than its urban planners can handle. We are
building roads, bridges, fly-overs, factories, commercial complexes and
also building and renovating our homes and residential properties. But
we do not pay sufficient heed to the construction and demolition

(C&D) waste we generate, for example, bricks, concrete, stones, hard




core subsoil, topsoil, timber, glass, gypsum, ceramics and also plastics.
Neglecting this waste has consequences for public health as well as the
environment.

There is no agreement on the volume of C&D waste. The Ministry of
Environment, Forests and Climate Change in 2010, put the annual
estimate of C&D waste at 10-12 million tonnes. The Central Pollution
Control Board settled for 12 million tonnes in 2011, but its Guidelines
Document of 2017 has upped the estimate to 25-30 million tonnes,
based on information from the Ministry of Urban Development. The
Centre for Science and Environment swung to the other extreme and
estimated C&D waste at a humongous 530 million tonnes for 2013, as
they included the waste from renovations/repairs, assuming that one-
third of the existing stock of buildings carried out renovations/repairs in
2013.

The most recent annual estimate of C&D waste in Indian cities is 165-
175 million tonnes, jointly prepared for the period 2005 to 2013, by
two government agencies, the Building Materials and Technology
Promotion Council, and the Centre for Fly Ash Research and
Management. This waste is dumped illegally on vacant sites, on the
sides of highways, below fly-overs, beside lakes and rivers, in other
low-lying areas and open storm water drains. Delhi and Bengaluru
provide glaring examples of this practice, commonly known as “fly-
tipping”. In Bengaluru, C&D waste is increasingly being used to
encroach on lake-bed land for construction.

Delhi’s air pollution is in no small measure due to the high presence of
particulate matter (PM 2.5 and PM 10), resulting from the construction
debris strewn around the city. Water logging, with all its adverse
impact on public health and the environment, is another consequence as
the runoff from smooth surfaces is trapped in the debris.

Other countries have faced similar challenges and have done something
about it. Germany faced huge issues in disposing of the post-war bomb
rubble. Stuttgart solved this problem by creating a mini-hillock outside
the town which is now a recreational hand-gliding spot. While C&D

waste was earlier typically sent to dump sites in many countries, in the
past 20 years or so there has been a greater appreciation of the reuse

and recycling possibilities of the waste into construction material




(recycled aggregate concrete, manufactured sand, etc.) and its
implication for the conservation of natural resources.

SubQuestion No : 18

A X - : : -
°8 Ahitﬂ the reading of this passage it can be inferred Question ID : 16794319259
that it is:

Ans 1. a survey report
» 2 an article
& 3. anewspaper editorial
& 4 anews item

Comprehension:

Read the following passage and answer the questions given after it.

India is urbanising faster than its urban planners can handle. We are
building roads, bridges, fly-overs, factories, commercial complexes and
also building and renovating our homes and residential properties. But
we do not pay sufficient heed to the construction and demolition
(C&D) waste we generate, for example, bricks, concrete, stones, hard
core subsoil, topsoil, timber, glass, gypsum, ceramics and also plastics.
Neglecting this waste has consequences for public health as well as the
environment.

There is no agreement on the volume of C&D waste. The Ministry of
Environment, Forests and Climate Change in 2010, put the annual
estimate of C&D waste at 10-12 million tonnes. The Central Pollution
Control Board settled for 12 million tonnes in 2011, but its Guidelines
Document of 2017 has upped the estimate to 25-30 million tonnes,
based on information from the Ministry of Urban Development. The
Centre for Science and Environment swung to the other extreme and
estimated C&D waste at a humongous 530 million tonnes for 2013, as
they included the waste from renovations/repairs, assuming that one-
third of the existing stock of buildings carried out renovations/repairs in
2013.

The most recent annual estimate of C&D waste in Indian cities is 165-
175 million tonnes, jointly prepared for the period 2005 to 2013, by
two government agencies, the Building Materials and Technology
Promotion Council, and the Centre for Fly Ash Research and
Management. This waste is dumped illegally on vacant sites, on the

P a 4 P




sides OI highways, below Ily-overs, beside lakes and rivers, m other
low-lying areas and open storm water drains. Delhi and Bengaluru
provide glaring examples of this practice, commonly known as “fly-
tipping™. In Bengaluru, C&D waste is increasingly being used to
encroach on lake-bed land for construction.

Delhi’s air pollution is in no small measure due to the high presence of
particulate matter (PM 2.5 and PM 10), resulting from the construction
debris strewn around the city. Water logging, with all its adverse
impact on public health and the environment, is another consequence as
the runoff from smooth surfaces is trapped in the debris.

Other countries have faced similar challenges and have done something
about it. Germany faced huge issues in disposing of the post-war bomb
rubble. Stuttgart solved this problem by creating a mini-hillock outside
the town which is now a recreational hand-gliding spot. While C&D

waste was earlier typically sent to dump sites in many countries, in the
past 20 years or so there has been a greater appreciation of the reuse

and recycling possibilities of the waste into construction material
(recycled aggregate concrete, manufactured sand, etc.) and its
implication for the conservation of natural resources.

SubQuestion No : 19

Q.1 : : - .
o Which agency ’s_ estlr_nate of the volume of C&D Question ID : 16794319261
waste has been the highest?

Ans % 1 The Centre for Fly Ash Research and
- Management.

52
The Ministry of Environment, Forests and Climate
Change

W 3. The Centre for Science and Environment

/< 4. The Central Pollution Control Board

Comprehension:

Read the following passage and answer the questions given after it.

India is urbanising faster than its urban planners can handle. We are
building roads, bridges, fly-overs, factories, commercial complexes and
also building and renovating our homes and residential properties. But
we do not pay sufficient heed to the construction and demolition
(C&D) waste we generate, for example, bricks, concrete, stones, hard

core subsoil, topsoil, timber, glass, gypsum, ceramics and also plastics.




Neglecting this waste has consequences for public health as well as the
environment.

There is no agreement on the volume of C&D waste. The Ministry of
Environment, Forests and Climate Change in 2010, put the annual
estimate of C&D waste at 10-12 million tonnes. The Central Pollution
Control Board settled for 12 million tonnes in 2011, but its Guidelines
Document of 2017 has upped the estimate to 25-30 million tonnes,
based on information from the Ministry of Urban Development. The
Centre for Science and Environment swung to the other extreme and
estimated C&D waste at a humongous 530 million tonnes for 2013, as
they included the waste from renovations/repairs, assuming that one-
third of the existing stock of buildings carried out renovations/repairs in
2013.

The most recent annual estimate of C&D waste in Indian cities is 165-
175 million tonnes, jointly prepared for the period 2005 to 2013, by
two government agencies, the Building Materials and Technology
Promotion Council, and the Centre for Fly Ash Research and
Management. This waste is dumped illegally on vacant sites, on the
sides of highways, below fly-overs, beside lakes and rivers, in other
low-lying areas and open storm water drains. Delhi and Bengaluru
provide glaring examples of this practice, commonly known as “fly-
tipping”. In Bengaluru, C&D waste is increasingly being used to
encroach on lake-bed land for construction.

Delhi’s air pollution is in no small measure due to the high presence of
particulate matter (PM 2.5 and PM 10), resulting from the construction
debris strewn around the city. Water logging, with all its adverse
impact on public health and the environment, is another consequence as
the runoff from smooth surfaces is trapped in the debris.

Other countries have faced similar challenges and have done something
about it. Germany faced huge issues in disposing of the post-war bomb
rubble. Stuttgart solved this problem by creating a mini-hillock outside
the town which is now a recreational hand-gliding spot. While C&D

waste was earlier typically sent to dump sites in many countries, in the
past 20 years or so there has been a greater appreciation of the reuse

and recycling possibilities of the waste into construction material

(recveled acoresate conerete. mamifachred sand. ete ) and its
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implication for the conservation of natural resources.

SubQuestion No : 20

Q.2 & i
o What is the main purpose of the passage? Question ID : 16794319260

Ans J 1.
to point out that the improper disposal of C&D
waste creates health and environmental issues
> 2
to stress how other countries mange their problem
of C&D waste
X 3
to estimate the volume of the C&D waste in the
country
> 4
to showcase how the different agencies disagree
on the amount of C& D waste

Comprehension:

A fo&r a1T STEETer @ gge g T WeAl & 3ccR ST

A S FET N G F FIOe A A Ak 376 Feg B
AHFAT F I F g2 AT ) F FE0r gor Hr A= &
die-1fft o Bua A A 91 TRy # gaahT AR s
EEACHS FTEATIAT, SCAIET el S HI i @ 781 oY
TEU-HATT F 9T AR OREpa el fr TERuRT R 39
ST Faur fammumr & s gl s¥ e ST J@ FHE
SHIOT 9. EANITHEIE Gaaar T HE B el A, J0T-
IEAT F 9fa 35 ASE-3TEre & FESS $r HEedEar 927
gfasdr = & w4 # Afgleas ofF 9T av By ¥ sfaffsa
e

SubQuestion No : 1

a1 =T & o Boer gay ﬁﬁjﬂT U T Question ID : 16794319266

el 872
Ans of 1 HIARETE
> 2 SereaTaT
X 3 FEITCHES HATETAT




X 4 g
Comprehension:

A fodr 71T e @ 9ga ¥ T WAl & 3eak ST

A S FET A AT & HIe A A Ak Ik FeT
AHFAT F a1 F g AT ) 3 R0 gy S A= &
-3 I ud A€ AT &) WUy F gsaneT AT 3h
A HIFHTIT, Socadr e S &7 ®far & 7ar off)
FEU-HATE # F9TEE AR foREpa el Fr TERuRT HR sad
ST Faor famemr & e gl s¥ e S @ J@ FHe
SEIOT 9. EAITHEE Gaaar T HET B ol A, J0T-
SETAT F 9T 37 TSEIE-3TRrer & GHESE HT HTETsar 9
glaadr St & waR & wiigfews (& 9T av Iy ¥ vfaf¥sa
e

SubQuestion No : 2

Q2 9eFeT = N F &Y 70T &F FOT 7 Question ID : 16794319269
Ans X e

X 2 grAfes =gar

< 3. T

o 4 s

Comprehension:

At & 71T TgaTer #F 9gHT U T WRAl & 3ea} ST

e S A A AT & HOe a1 I Ak 3k FeT A
AHFAT & I F g AT ) T FE0r g7 Hr A=
Ste-s1fR I g g A o) oy @ g M s
EEITcHS HAFHTI=T, STcaar JFa S &7 &2 @ 7ar o)
FEUT-HATT # FUTET AR TREpa el FERuRT R 339
=T Fa0T femmurr & f@e e, 50 o S a8 gaEm
saferT 9. givaTe EfEadr @ HER Hr e iy, o
OIEAT F 9fa 379 FAgE-3marer &+ FES Fr seedEar 92
gieadr S F FER 1 Afgfors 8ff W AT @Y ¥ viates
i

SubQuestion No : 3




.3 + *
PV gy R Iy T e Question ID : 16794319268

e X1 P
X2 3R

v o ST
X+ R

Comprehension:

A fodr aTC STEETer @ gge ¥ T WAl & 3ok ST

A S FET A AT & HIe A A Ak Ik FeT
AHFAT F a1 F g AT ) 3 R0 gy S A &
Aer-3fR I ud A€ AT &) AUy F gsAneT AT 3h
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Ans

v srEEua TR FT e
< 2 omeT Ay
X 3 mgea Fr Tl




X o i gum

Q7 i fywew gt wa T & aff wt

Fear & el 3 e 7 TR, il F & g
Ans X 1. e n‘ S E aﬁ =

v 2. T, Seme afEer

# 3 fRgfer; e

K o Thigfet; s affet

Question ID : 16794319369

Q.8 wwrr s & =ewfay # Ry W f wiFw = TR g wT @ Ry o g
e K SFaTETeme g%

& 2. ATeAT Tmely

o 3. TrAEATYT ofesr

X 4 OIER Tea9dE 9T

Question ID : 16794319374

Q.9 =#w & ST & wrea # 13 of ¥ A= B w A vl @ OhEw & ¥ By o
WS & Ieeaa g B

e K1 gdenfo sTERY & 3R
X 2 gEgpias va derfoE HfEeeT
v 3 olwor & TaeE R
X 4 TIaTar F HOER

Question ID : 16794319371

Q.10 wEfem e Hyal 399 FAET F ST &7 FT TEA 9Y A T FAewiae B
ST wEa f

Ans X1,
Rt ¥ #§ SR @ B aRe @

Xzﬁgﬁﬂmm
K3 wF 7o Avw &=
¢ GEUEER 3T HETHAT

Question ID : 16794319368

Q.11 Teaching reading and writing skills in classroom helps student:
Ans X 1. To develop problem solving skills
< 2. To get good hand writing

o 3. To communicate effectively

X 4 To read properly

Question ID : 16794319381

" free & TR e sEe fow sTEEh

Question ID : 16794319380




Ans

X gfrsg # ffae 9w & [T
W 2

AT e shiw BEREE 5 F B 5 5 a9 3 e A aeed g # s e & B
T T E

& 3.
g% Thd & TR H O 3& 9od A & [T

5 4
- oy 9 Rugt st gt F R s F o

Q.13

Ans

T S IEIE W & AR # T YT a1 & e F=r G s e e
X . FET F FAEG femer afge

~ 2

gsft v = @A § F 99T AT

X 3

FOIEITT W@ F Fgcd o fEmrer afige

W\ eI FT THHIOT

Question ID : 16794319382

Q.14

‘What are the three dimensions of gender inequity indicators?

Question ID : 16794319379

Ans 1. Education, Human rights, Reservations

& 2. Education, Human rights, Responsibilities

~ 3.

Education, Percapita income, Political awareness

W 4

Education, Economic participation. Empowerment
O I HR TEEE F R T FF T ORI @O 27 Question ID : 16794319377
e K1 gaveremematt

W2

o Rremeft 3=l B # geR T §

X o s Rreror wEen A @ ¥

~ 4

I T FETT ¥ 39TEyd @ H I RTma §
Q.16 Self-Discipline, Internal motivation, Clear goal is required in: Question ID 16794319383
Ans X 1. Traditional learning

X 2. Formal learning

o 3 Self-learning methodology

X 4 Instructional learning
Q.17

Ans

Ted Al 3R Ffear A Fhe F @ aEeer FEaER

Question ID : 16794319375




v emiifeE femE
X2 Afaw Tew
X 2 Fper Hg e
K4 iR e

Q.18 .- i 2
‘What were the languages promoted by Indian government? Question ID : 16794319376

Ans o 1. Telugu, Hindi, English
X 2. German, French, Parsi
/< 3. Chinese, Japanese
/< 4. Sanskrit, Urdu. English

19 : )
919 Parental support is very less for: Question ID : 16794319384

Ans X 1. Government school students
X 2. Active learners

o 3 First generation learners

& 4 Rural students

Q.20 iR T, A —r snTEe
e o g R TR & Question ID : 16794319378

s X mAfEEE
v BrE=
X 3. graATferes seTad
X 4 3T
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Section : Mental Ability

Q1 Choose the odd pair out from the below options.

Ans K149 :7
W2 81:10
K3 36:6
X 4121:11

Question ID : 16794320603

Q.2 Identify the odd pair of numerals among the group that does not hold the same rzlation as the rest of the pairs.

4:32

Ans X1_

N2 7:42
X3 09:54
W4 3:19

Question ID : 16794320620

Q.3

Pavitra’s brother’s father’s mother is her:

Ans - X1 Aunt
« 2. Grandmother
< 3. Mother
X 4 Sister

Question ID : 16794320615

Q.4 Tdentify the option figure that is similar to the figures given below:

Question ID : 16794320604

LB Aed |78 | R
] VY|
Ans

x|
Y

V2 | £

ik 5

X:-;./_E
£ N




F %

Q.5 The following chart shows information about the sales of the company “XYZ' for the year 2016 & 2017.

@ @ Qs

B20E ®I07

q

What is the ratio of the sales of the company “XYZ" for the quarter 2 () of 2016 to the sales of the company for
quarter I Q) of 20172

Ans of 1. 4:5
X 24:3
X3 5:5
X4 3:4

Question ID : 16794320608

Q6 Consider the below arithmetic progressive series.

6. 10, 14, ...
What will be the 17% term in this series?
Ans K 1..83
X 2 63
v 3 70

Question ID : 16794320621

X 475
Q.7 Anpiece of paper is folded and cut as shown below m the question figures, From the given answer figure indicate how it
R Pt Wi o), Question ID : 16794320606
’\ =
ESeA=EEY
Ans o
x 1. lo o
Q
oo
V2|8 2
oo
L]
K3 |lo =
—
(aXe
Kalo o
oo

Q.8 Spot the option figure that has the below figure embedded as part of it.

A

Question ID : 16794320609




Ans

X 4

Fﬁ%@[@%ﬁi

Q.9 Two positions of a dice are shown. When 3 is at the bottom. what will be the number on te side that is at the top?
< 3 7 L3 7
P [P
] (i)

Ans X' 1. doré
X2 30r2
vl
X 42

Question ID : 16794320612

Q‘1 0 You are in the classroom and have not cempleted the home work that teacher had given the previous day. The teacher
asks to show the status of the home work. What should be your mest appropriate action?

Ans

< 1. Suddenly escape from the class.

# 2. Complain to the principal about the teacher.
< 3

Say lie as “forgot the home work book at the home™.

W

Politely ask for apology for not completing homework and assure the work would be completed by next day

[ Question ID : 16794320611

Q.11 Study the following Venn diagram carefully and answer the question.

Question ID : 16794320614

How many persons who speak either Gujarat or Marathi but not both?

Ans X 1. 140
X 2 157
X 3. 166
W 4 183

Q.1 2 Atthe end of a party, the eight people present all shake hands with each other once, How many handshakes will there be
altopether?

Question ID : 16794320617

Ans X 1. 35
W2 28




K3 43
X 430

Q.13 Identify the odd pair of words among the group that does not hold the same relation as the rest of the pairs.

Ans X' 1. Bee : Hive
o 2. Snake : Reptile
/< 3. Peasant : Cottage
< 4. Spider : Web

Question ID : 16794320619

Q_‘] 4 Study the following information carefully and answer the given questions.

For a recruitment process in an ACCOUNTING organization. the candidates need to possess the following
qualificaions criteria:

(i} He/she shoud be a graduate in commerce with at least 60% marks.

(if) He/she should be of at Imstzi)'tm ofagc and not more then 40 years ason 1 -7 - 2016,

(it} He/she should have s post-g work: experi ofat least 2 years,

{iv) He/she Should have seeured 559 marks in the selection process.

However, if the candidate fifills the gb ioned criveria except!

{A) at (i), and if the candi is mot a grad n but has a post-graduation degree in finance with minimum

of 60% marks, he/she should be referred to the Finance Manager ofthe. organization.

(B) an (iii), and if the candidate fulfills all the eligibility criteria but of pos-qualification work experence but has
securad 75% marks in the selection process, he‘she may be refemred to the Traines Accountani,

Based on the above information. study carefully whether following candidates are eligible for the mru.lm.w.m process
and mark your answer as follows, Vou are not to assume emﬂhmg other than the infe ion provided in each q

All the cases are given toyou as on 1 - 7 - 2016,

Mamatha has done graduation in Mechanical Engineering with $9% marks. Her date of binth s 3. 5. 1991, She has
qualified in the selection process and has secared 459 marks in it. She also has two years nfposi-thﬁcaum wotk
experience.

Ans 1. The candidate should be selected
5 2

The candidate may be referred to the Trainee Accountant

X 3

The candidate may be referred to the Finance Manager
o 4 The candidate is not to be selected

Question ID : 16794320610

Q15 What would be the next term in the below series?

GT, KR, OP, SN.?
Ans X1 TA

X 2 GY

X3 LC

v 4 WL

Question ID : 16794320622

Q 16 The average age of a father and his two sons is 25 years, Father's age 5 40 vears and elder san is 3 vears clder than the
vounger son. Then what is the age of the younger son?

Ans 1. 18 years
/< 2. 20 years
/X 3. 23 years
o 4 16 years

Question ID : 16794320618

Q17 Select the most appropriate option.

A graph must have:

Ans X 1. Parabola
< 2. Ellipse

Question ID : 16794320613




v 3 Axis
X 4 Line

.1 8 " " . . . - "
Q.18 Tdentify the image that is different among the given options. Question D : 16794320605

NN EREE

A B C

Ans K€
v 2 B
X3 D
K4 A

Q.19 If+ means —. — means x, + means + and x means +,then 18 -6+ 12«4 +2="2

Question ID : 16794320616
Ans 1. 120

X 2110
W 3 107
X 4 108

Q_20 A piece of paper is folded and cut as shovwn below m the question figures, From the given answer figure indicate how it
PR ARG DT Question ID : 16794320607

2

e

F

Ans

K 2

v &)

= =] |[& D] |D D] (= =D
& 4| |[E& | |2 D] (o> D

Section : General Awareness

Q.1 "Bathukamma" is the famous folk-dance of which state?

Ans

Question ID : 16794320635

o 1. Telangana
# 2. Karnataka
& 3. Kerala

# 4. Tamil Nadu

Q.2 [




Union Government and Evropean Union (EU) have collaborated for tesearch programme named 1o
develop Next Generation Influenza to profect citizens across the globe,

Question ID : 16794320642

Ans X 1. Horizon 2021
# 2. Horizon 2019
# 3. Horizon 2022
' + Horizon 2020

Q3 The temples of Palitana are located in which state?

Question ID : 16794320626

Ans 1. Punjab
o 2. Gujarat
/< 3. Haryana
#< 4 Rajasthan

Q_4 Ohampic Council of Asia (OCA) has chesen whom as the winuer of Most Valuable Player (MVF) Trophy Award in
2018 Jakarta and Palembang Asian Games.

Question ID : 16794320636

Ans  of 1. Rikako Tkee
& 2 Park Tae-hwan
/< 3. Kosuke Kitajima

< 4 Kosuke Hagino

Q.5 Which Part of the Indian Constitution provides for 'special provisions for certain classes'?

Ans 1. PART XVII

Question ID : 16794320630

X 2 PART XIV
' 3 PART XVI
X 4 PART XV

Q.6 Where is the headquarter of 'Army Air Defence College' in India?

Question ID : 16794320639

Ans X' 1. Pune
« 2. Gopalpur
X 3. Dundigal
< 4. Jalahali

Q.7 [Indiahas fallen from

rank in 2017 to 1ith rank in the FDI Confidence Index 2018 released by global
constltancy firm A T Kearney.

Question ID : 16794320632

Ans X 1. qpth
X 2 gth
X 3 gth
of 4 gth

Q.8 'Office of CAG' in the Indian Constitution has been borrowed from which country?

Question ID : 16794320628

Ans  of 1 Britain
& 2 TIreland
& 3. Canada




A 4 Australia

Q.9

Ans

Who among the following is a famous Rudra Veena' player?
#< 1. Bhajan Sopori
v 2. Asad Ali Khan
# 3. Pannalal Ghosh
# 4 Allauddin Khan

Question ID :

16794320634

Q.10
Ans

Gautam Buddha’s father was the chief of one of the ancient tribes of which state?
o 1. Kapilvastu
& 2 Lichhavi
& 3. Avanti
# 4 Lumbini

Question ID

116794320625

Q.11

Ans

The temperature at which molecules stop moving?

#< 1. Bose Einstein Condensate
2 -273.15°C

K3 270°C

< 4 Plank's Temperature

Question ID :

16794320638

Q.12

Ans

The famous epic Mahabharata was composed by
& 1. Tulsidas
& 2. Kalidas
o 3. Ved Vyasa
# 4 Maharishi Valmiki

Question ID

116794320623

Q.13

Ans

Teafaf@a & ¥ #37 2018 ofwmE Tet F v A T a2
X . R (T HiET arar $eE)

X 2 s (R

X3 i@ B (T =7 gaf)

Vi TR (FsaE Free)

Question ID

116794320637

Q.14

Ans

Thailand was known by which name earlier?
< 1. Saigon
X 2 Malaya
v 3 Siam
4 Manchukuo

Question ID :

16794320627

Q.15

Ans

Asian Development Bank (ADB) has approved financing package of $245 million to implement project for providing
safe, susiainable drinking water service to 1.65 million people in three districts affected by arsenic. flnoride. and salinity
of which state?

& 1. Tharkhand

Question ID :

16794320640




o 2. West Bengal
# 3. Rajasthan
& 4 Odisha

Q.16 Who among the following is associated with Manipuri dance form?

Ans

« 1. Rajkumar Singhajit Singh
& 2. Ananda Shankar Jayant
# 3. Rukmini Devi Arundale
# 4. Sonal Mansingh

Question ID : 16794320633

Q17 How many Mahajanapadas were there in 600 B.C.?

Ans

v 16
X224
X318
X412

Question ID : 16794320624

Q_1 8 Which Indian Naval Ship reached Pert of Darwin, Australia to participate in multilateral regional maritime exercise
KAKADU 2018 conducted by Australia?

Ans

# 1. Shakti
o 2. Sahyadri
/& 3 Ganga
< 4 Godavari

Question ID : 16794320641

Q19 YWhich bank's tag line is. "Badhti ka nam Zindagi."?

Ans

v 1. Axis Bank
& 2 Citi Bank

# 3. HDFC Bank
4 IDBI Bank

Question ID : 16794320631

Q20 WWhich Article provides for living wage etc. for workers?

Ans

& 1. Article 45
& 2 Article 48
v 3 Article 43
& 4 Article 41

Question ID : 16794320629

Section : Arithmetic Ability

Q_‘] A and B together can do a piece of work in § days, B and C together can do it in 12 days. and A B and C together can
do it in 6 days. They stared the work together. Afier 4 days, B i2fi. The remaining work will be finished by A and C
together in:

Ans

X 1. 4 days
X 2 3 days

Question ID : 16794320657




2

W3 2; days

x4 2; days

Q.2 Inacdlass of 80 students, 80% are girls and rest are boys. The average score of all the students in a fest is 78, If the
average score of boys is 20% more than that of the girls, then what is the average score of bovs? Question ID : 16794320650

Ans o 1. 90
X2 85
X 3 88
X 4 86

Q.3 A certain sum amounts fo T 12705 a 10% p.a compotind interest afier 2= vears, when the iterest is compounded
vearly. If the same sum amounts to T 14500 at the seme rate is ¥ ymatzsimp}einmm then the value of ¥ is: Question ID : 16794320658

Ans X1_ 5
V24l
2

1

X3 5=
2
<44

Q_4 Please A and B are 210 km apart on a highway, Two cars start simultaneously from A and B respectively. If they move
in the same direction, they meet aﬂuloi hours if they move towards each other, they meet aftar 22 hours. The Question ID : 16794320660

differsnce between their speeds (i km/h) s

Ans of 118
X220
X315
X416

Q.5 30% of A’s meome is eqmlnl 10 20% of Bs in_come and 15% of B's income 15 equal 10 25% of C's income. 1If C's income
I8 53000 then the tofal income of A and B i Question ID : 16794320648

Ans  of 1. T 150000
< 2 T 156000
< 3 T 114000
&< 4 T 144000

Q.6 Asoldright circular cons of height 21 cm and the diameter of base as four fimes its height is method and recastinto a
sphere. What s the surface area (in cn) of the sphere? Question ID : 16794320654

Ans  of 117641
<2588
<3 882n
K 413231

Q_7 Acis 20% more than B whereas B is 20% less than C, if D is 50% more than A, then which of the following is rue?

A i Question ID : 16794320647
ns X' 1. Cis 4% more than A

5
v &) BisSS;%ofD

& 3. Cis 20% more than B




X 4 Cis 44% less than D

Q.8 The compound interest on a certain sun t 16 2 per amum for 3 years is £ 635 What will be the simple intesest on
the'same sum af the same rate for double the time?

Ans X 1. T 540
X 2 T 1270
V'3 1080
K 4 T 810

Question ID : 16794320653

Q.g A certain number of persons can do a piece of work in 40 days. If there had been 45 persons more, the work could have
been finished in 23 days, How many persons were emploved to do the work initially?

Ans of 1. 75
X 2 80
&< 3 60
< 4 64

|

Question ID : 16794320656

Q.10 Ifthe mean proportional between 162 and 128 is x and the third proportional to 32and 72 is v, then 2 1y =2
Ans ?{’1 4-3

w280

X37:8

K49:16

Question ID : 16794320652

Q.11 The incomes of A, B and C are in the ratio 6: 8 ;5 and their expenditures are in the ratio 327 4. I1C saves 40% of her
incomze, then the ratio of savings of A, B and C is:

Ans  of 1.9:11:8
M 2T
K30:8:11
X46:7:4

Question ID : 16794320651

Q.12 20 B A i3 .4
—of of2-+=Xd—

'The- 1"3111& Uf(glagajf(gg ;j)((?z '}';30}022 15
4'5 6 7/7°\8 9 E]

Ans o 1120

Question ID : 16794320645

Q.13 Atrader sold articles at T 1596 each after allowing 5% discount on labelled price, Had he not given any discount, he
would have eamed a profit of 12% on the cost price. The cost price of each arficle is:

Ans X 1. T 1600
< 2 T 1560
< 3 T 1200
v 4 F 1500

Question ID : 16794320649




Q.14 The area of circular park is 11 fimes the area of a triangular park whers sides are 410 m. 280 m and 150 m. what is the
perimeter of the cireular park? (7=="}

Ans X' 1. 1980 m
& 2 880m
& 3 1760 m
o 4 1320m

Question ID : 16794320655

Q.15 [9.5+(0.6%0.754+0.8+16)+0.75]+31.6
The value of

1s:
2.32+[1.4+050f 0.742.4 of 1.6+8 of 0.75]

Ans o 1. 1.25
X225
X31
K42

Question ID : 16794320643

Q.1 6 Inastream rumming a1 2 kmh, a boat goes 10 kn upstream and retams to the starting point in 55 minutes. How much
time (in hoursy will it take to cover a distance of 127.6 Km m still water?

Ans X1 5.4
X248
K344
458

Question ID : 16794320659

Q.17 I.fx:-s‘ﬁ_+_:_:i+so- and v = V7 — 44/2 then the value of (x — ¥) is closest to:
a'l
Ans ¢1, 0.3

X208
X304
X406

Question ID : 16794320644

Q.18 Indetermining the HCF of two numbers by the method of long division, the lest division is 59 and the successive
quotients from the beginning to the end are 2, 2, 2 and 3, respectively. The difference between the numbers is:

Ans X 1. 1239
X 2 1357
W 3 1416
X 4 1475

Question ID : 16794320646

Comprehension:




Study the following bar graph that shows he number of students from
two schools who qualified in an examination in six years and he take and
answer questinns.

2010 2011 2012 2013 2014 2015

0

800

700

600

500

400

Mumber of Students

300

200

100

0

michool A m5chool B

Percentage of (among who qualified)

Year Boys (in A) Girls (in B)
2010 48 36
2011 66 60
2012 72 45
2013 42 43
2014 < 81
2015 36 54

SubQuestion No : 19

Q‘1 . . - . . .
o Total number of girls qualified in the examination from Question D : 16794320663

school B in six years is what number of students qualified
from A in six years in: (nearest to an integer)
Ans 1. 61
X251
X 3 54
v 53

Comprehension:




Study the following bar graph that shows he number of students from
two schools who qualified in an examination in six years and he take and
answer questions.

2010 2011 2012 2013 2014 2015

800

700

500

400

Mumber of Students

300

200

100

0

michosl A mschool B

Percentage of (among who qualified)

Year Boys (in A) Girls (in B)
2010 48 36
2011 66 60
2012 T2 45
2013 42 43
2014 < 81
2015 36 54

SubQuestion No : 20

@2 What is the ratio of total number of boys qualified in Question ID : 16794320662

examination from school A in 2010, 2012 and 2014
to the total number of girls passed qualified from
B in 2011 and 20137

Ans X 1.25:43
X2 43:25
W3 43:22
X 42522

Section : General English

Q.1 From the giv i h th that the OPPOSITE of
rom the given options choose the one that means the o Question D : 16794320667

vigilant

Ans X1 violent




X 2. virtuous
< 3. alert
W 4 inattentive

Q.2 From the given options, select the word that can substitute the words given below.

the rearing of silkworms for production of silk

Ans o 1. sericulture
X 2. pisciculture
/< 3. apiculture
X 4 horticulture

Question ID : 16794320672

Q.3  Select the option that represents the correct passive voice form fo fill in the blank in the sentence given below.

The enemy forces by our army.

Ans

+ 1. have been successfully repelled
/< 2. have repelled

X 3. repelled

< 4. successfully repelled

Question ID : 16794320677

Q.4 From the given options, choose the one that would mean the SAME as
aloof
Ans 5 1. adjust
< 2 alert
o 3 unfriendly
X 4 amiable

Question ID : 16794320664

Q.5 From the given options, choose the one that would mean the SAME as
candid
Ans 1. careful
v 2 frank
< 3. captive
< 4. capable

Question ID : 16794320665

Q.6 Select the indirect form of narration of the given sentence.

1ra said 1o me. "I am feeling feverish. I may not be able 1o go 1o the market with you tomorrow.”

Ans X1_

Ira stated that it was advisable not to go to the market tomorrow as both of us were feverish.

W2

Ira informed me that she was feeling feverish. She further added that she might not be able 10 go to the market with me
the next day.

& 3.

Ira advised me not to go to the market with her as I was feverish.

K 4

I 1old Ira that she was feverish. 1 further added that she cannot go to the market with me the next day.

Question ID : 16794320678




Q.7

Ans

Combine the given into & single

Children grow ap very fast. You suddenly find the houwse sileat and empty. The children are gone to some faravwny place
either to study or to work. It is the most depressing situation.

o

Nothing can be more depressing than a silent and empty house with children grown up and gone to some faraway place
either to study or to work.

K 2

Children grow op very fast to go away to study and work in some faraway place thus emptying and silencing the house.

X 3

1t is the most depressing situation because children grow up very fast and study or work feraway and the house is silent
and empry.

X 4

Children grow up very fast to leave a depressed, silent and empty houss and study or work in some faraway place.

l

Question ID : 16794320676

Q.8

Ans

Fill in the blank in the sentence given below with the correct option.

A: Can you lend me money?
B: Sorry. I don’t have

/A 1. any ; some
/< 2. this ; that
o 3 some ; any
/< 4 the ; that

Question ID : 16794320675

Q.9

Ans

Choose the incorrectly spelt word from the given options.
& 1. immigrate
& 2 emigrate
« 3. ignishun
& 4 immature

Question ID : 16794320668

Q.10

Ans

Fill in the blank in the sentence given below with the corract option.

My friends were complerely exbausted. They ____the whole day exploring the forest trail.
X1 will walk
< 2. are walking
« 2 had been walking
/X 4. are going to walk

Question ID : 16794320674

Q.11

Ans

Fill in the blank in the sentence given below with the correct option.
Are the children old enough to look after 2

& 1. myself

< 2 himself

v 3. themselves

& 4 ourselves

Question ID : 16794320673

Q.12

Ans

From the given options choose the one that means the OPPOSITE of
peace

/< 1. pinnacle

Question ID : 16794320666




/< 2. harmony
o 3 war
/< 4. pattern

Q.13 Given below is an incorrect sentence. From the given options. select the part that has an error.

Question ID : 16794320669
In rush hours, traffic in New Delhi moves by a snail’s pace.

Ans X1 traffic

# 2. In rush hours
A 3. moves

« 2 by a snail’s pace.

Q.14 Given below is an incoitect sentence. From the given options, select the part that has an error. Question ID : 16794320670

I am having a very powerful telescope to waich the distant stars.

Ans  of 1. am having
< 2. powerful
< 3. distant stars.
& 4 to watch

Q_‘] 5 From the given options. select the one that represents the appropriate meaning of the underlined expression in the
Sentence aivaitbing, Question ID : 16794320671
It is very difficult to enjoy the silly serials served up by different T.V. channels day in and day out.

Ans  of 1. entertainment presented to people
X 2. perform official duties

/< 3. given to people at the beginning of a meal

K 4
to throw up the ball or shuttlecock in tennis or badminton

Comprehension:




Q.1
6

Ans

Read the following passage and answer the questions given after it.

Insomnia affects a lot of people, but sleeping pills aren’t the only — or the
best—answer. A good sleep routine, exercise and mindfulness are all
options to get the restorative sleep you need.

Set up a daily sleep pattern by going to bed at the same time each night
and waking up at the same time each morning. Yes, even on weekends.
Keep your bedroom peaceful, dark and on the cool side. Take out all
electronies, and stop using them at least one hour before you turn in.
They emit a type of light that interferes with vour natural body rhythms,
prompting you to stay alert when you should be winding down.

Exercising vigorously in the morning leads to better sleep at night. But if
vour only free time is later in the day. such workouts don’t seem to
interfere with sleep as previously thought. Stubborn sleeplessness may
respond to mindfulness meditation, which can focus specifically on
insomnia or stress reduction.

According to research, working with a therapist and practicing
meditation at home for 30 to 45 minutes nearly every day helps people
get better sleep. By working with trained therapist, you’ll learn how to
change the negative thoughts that could be at the root of your sleep
problem.

Getting a stipulated amount of sleep each day is crucial for a healthy life.

SubQuestion No : 16

Identify one word for the words given below: Question D : 16794320680

inability / difficulty to sleep
v 1. insomnia

/& 2. anaemia

X 3. bulimia

X 4. claustrophobia

Comprehension:




Read the following passage and answer the questions given after it

Insomnia affects a lot of people, but sleeping pills aren’t the only — or the
best—answer. A good sleep routine, exercise and mindfulness are all
options to get the restorative sleep you need.

Set up a daily sleep pattern by going to bed at the same time each night
and waking up at the same time each morning. Yes, even on weekends.
Keep your bedroom peaceful, dark and on the cool side. Take out all
electronies, and stop using them at least one hour before you turn in.
They emit a type of light that interferes with vour natural body rhythms,
prompting you to stay alert when you should be winding down.

Exercising vigorously in the morning leads to better sleep at night. But if
your only free time is later in the day. such workouts don’t seem to
interfere with sleep as previously thought. Stubborn sleeplessness may
respond to mindfulness meditation, which can focus specifically on
insomnia or stress reduction.

According to research, working with a therapist and practicing
meditation at home for 30 to 45 minutes nearly every day helps people
get better sleep. By working with trained therapist, you’ll learn how to
change the negative thoughts that could be at the root of your sleep
problem.

Getting a stipulated amount of sleep each day is crucial for a healthy life.

SubQuestion No : 17

Q.1

- Choose the correct option to answer the question Question ID : 16794320681

given below.

What, according to the writer, do many people
usually do when they cannot sleep?

Ans 2 1. read books of their choice
W 2 take sleeping pills
& 3. listen to music
X 4 talk to friends on the phone

Comprehension:




Read the following passage and answer the questions given after it

Insomnia affects a lot of people, but sleeping pills aren’t the only — or the
best—answer. A good sleep routine, exercise and mindfulness are all
options to get the restorative sleep you need.

Set up a daily sleep pattern by going to bed at the same time each night
and waking up at the same time each morning. Yes, even on weekends.
Keep yvour bedroom peaceful, dark and on the cool side. Take out all
electronies, and stop using them at least one hour before you turn in.
They emit a type of light that interferes with vour natural body rhythms.
prompting you to stay alert when you should be winding down.

Exercising vigorously in the morning leads to better sleep at night. But if
your only free time is later in the day. such workouts don’t seem to
interfere with sleep as previously thought. Stubborn sleeplessness may
respond to mindfulness meditation, which can focus specifically on
insomnia or stress reduction.

According to research, working with a therapist and practicing
meditation at home for 30 to 45 minutes nearly every day helps people
get better sleep. By working with trained therapist, you’ll learn how to
change the negative thoughts that could be at the root of your sleep
problem.

Getting a stipulated amount of sleep each day is crucial for a healthy life.

SubQuestion No : 18

Q.1 : ik : 3
o C.hGOSE the correct option to answer the question Question D : 16794320682
given below.

Why, according to the writer. should people not take
electronic items with them when they go to sleep?

Ans “\‘ 1.

Electronic items emit harmful light that interfere
with body rhythms and make people more alert
instead of relaxed and wanting to rest.

52
Electronic items are addictive and once engaged in
them people lose track of time.

>~ 3
Electronic items are a big distraction and do not

allow people to concentrate or focus on the work at
hand.

54
People should not use electronic items in dark and
cool rooms because that affects the brain/eyes.

Comprehension:




Read the following passage and answer the questions given after it.

Insomnia affects a lot of people, but sleeping pills aren’t the only — or the
best—answer. A good sleep routine, exercise and mindfulness are all
options to get the restorative sleep you need.

Set up a daily sleep pattern by going to bed at the same time each night
and waking up at the same time each morning. Yes, even on weekends.
Keep your bedroom peaceful, dark and on the cool side. Take out all
electronies, and stop using them at least one hour before you turn in.
They emit a type of light that interferes with vour natural body rhythms,
prompting you to stay alert when you should be winding down.

Exercising vigorously in the morning leads to better sleep at night. But if
vour only free time is later in the day. such workouts don’t seem to
interfere with sleep as previously thought. Stubborn sleeplessness may
respond to mindfulness meditation, which can focus specifically on
insomnia or stress reduction.

According to research, working with a therapist and practicing
meditation at home for 30 to 45 minutes nearly every day helps people
get better sleep. By working with trained therapist, you’ll learn how to
change the negative thoughts that could be at the root of your sleep
problem.

Getting a stipulated amount of sleep each day is crucial for a healthy life.

SubQuestion No : 19

&' Choose the INCORRECT option. Question ID : 16794320683

How can therapists help people to get the required
amount of sleep?
They can help us by

Ans 1. teaching stress /anxiety reduction processes
> 2
teaching techniques of mindfulness meditation
W 3.
meditating for 35 to 40 minutes on our behalf.
5 4

making us aware of negative thought patterns

Comprehension:




Read the following passage and answer the questions given after it.

Insomnia affects a lot of people, but sleeping pills aren’t the only — or the
best—answer. A good sleep routine, exercise and mindfulness are all
options to get the restorative sleep you need.

Set up a daily sleep pattern by going to bed at the same time each night
and waking up at the same time each morning. Yes, even on weekends.
Keep your bedroom peaceful, dark and on the cool side. Take out all
electronics, and stop using them at least one hour before you turn in.
They emit a type of light that interferes with vour natural body rhythms,
prompting you to stay alert when you should be winding down.

Exercising vigorously in the morning leads to better sleep at night. But if
vour only free time is later in the day. such workouts don’t seem to
interfere with sleep as previously thought. Stubborn sleeplessness may
respond to mindfulness meditation, which can focus specifically on
insomnia or stress reduction.

According to research, working with a therapist and practicing
meditation at home for 30 to 45 minutes nearly every day helps people
get better sleep. By working with trained therapist, you’ll learn how to
change the negative thoughts that could be at the root of your sleep
problem.

Getting a stipulated amount of sleep each day is crucial for a healthy life.

SubQuestion No : 20

Qo What, according to_ the writer, is sound advice for a Question D : 16794320684
sound sleep? Identify the INCORRECT statements.

1. Go to sleep everyday at the same time.
2. Sleep in a quiet, dark and cool room.
. Sleep whenever you feel like.

3
4. Stop using electronic gadgets one hour prior to
sleeping time.

5. Exercise everyday either in the morming or
later.

6. Do not fuss about noise, lights or people in the
room.

7. Practise mindfulness meditation.

8. Use anxiety/ stress reduction techniques. if
someone is prone to be anxious or
unnecessarily stressed.

9. Get rid of positive thoughts.

10. Take help of a therapist in case of
chronic sleeplessness.

Ans X 1. Statements 9 and 10
o 2 Statements 3. 6, 9
/< 3. Statements 5, 6 and 7




X 4. Statements 1, 3 and 10

Comprehension:

A & 71T e F 9EE IU T WAl & o] ST

SIAETE & 3o 1920 § & maarw Ao oerar g1 e S
S Wegey IET F FEAET F IHT § I I Ao
SHHT T SHE TAl & heHAE (TATHH) 0 & J5a I
3egle OEE & fA-smer 8 off e ti'u-iq%onl Fr=TadT 7
THH FET IS F Ssd g off 5 ued died F smemions
OIAT FT A &gl 3T g o OIERE # TUH & a5 GaH &
fagie’ FraT o7 AweR i F 39 graw ‘o # ey
ait R femmar & orEe arga: F2 Fe ggicadl 1 dHeS
A7 § 3 37 39 TSI PR $ FeaecHs Hideateg g S
T HIT A Fied! § JAfFa =T =gar of AT gudr 307 gl
refierar &

SubQuestion No : 1

-1 13 L]
QU yemfoms O T AT JTURUT T TEEE SEY 2 Question ID : 16794320688
Ans K 1. gl_u F
v 2 Feege T

/X 3 THes %__t‘cm

K 4 =T A e

Comprehension:




A f&& 1T TgaTer F GgE IO A Weal & 3ca] ATl

DHTEE H Foor@ 1920 § & HHIE Ao oFmar g1 e S
@ﬁmaﬁmﬁﬁﬂuﬁtmﬁmgﬂm
SHHT TaY SHE Tdl & hemHE (THITHE) g ¥ Ssd 1
3eelel OrEE & - el o Far 9 Aggen e &
SHH FaY I F Sisd g o 59 cuad died F smediicn®
OIAT FT A ®el| 5T g o OERE & TUA & fava oA &
fagie’ A S At g & 39l gEae ormEE 7 eaw
dit 9X Rwman & oraEe argd: #3 #F1e ggfcadl # AHES
a1 § AR 98 ‘30 TSET AFRUT f FeacHE At ¢ S
TF HT WA Kl § JiFd 91T =mgar or A gl A fageh
Rrefiar ¥

SubQuestion No : 2

a2 TIOTEIE &1 Jooil &F Hole oeTar %"’ Question ID : 16794320686
Ans X 1.1930
X 2 1925
X 31915
v 41920

Comprehension:




A f&& 1T TgaTer F GgE IO A Weal & 3ca] ATl

DHTEE H Foa@ 1920 § F AHATE fHea oFmEr 81 e =i
T ey ST H FEAIH F GHT @ AR GIHT HAHT
SHHT TEY SHE TAT & hIgAEr (Trad) o ¥ SEa A
3eelel OrEE & - el o Far 9 Aggen e &
SHH FaY I F Sisd g o 59 cuad died F smediicn®
OIAT FT A ®el| 5T g o OERE & TUA & fava oA &
fagie’ A S At g & 39l gEae ormEE 7 eaw
ait W femmar & o avga #2 FeT ggieadl 1 @HeS
a1 & AR I8 ‘30 TSET AFRUT S FedcHE Aeag ¢ S
TF HT A Fgdl § JfFd I =@ar or A gElr A e
qrefiear &

SubQuestion No : 3

a3 SIaTEae #r =-amer e faa Fer? Question ID : 16794320687
A X 1. Aregeny TR

X 2 =T, ArEeT g

X2 oEl FJEg

o THATE Y

Comprehension:




A fodr 71T ITEErer F 9EH U T WAl & 3ea} ST

BITEE & 3eo@ 1920 § & marw fHoe oerar g1 e S
wmaﬁﬁmﬁﬂnﬁ#m#m?ﬂm
SHHT 9 SUTS Tl & hiwAEr (TOTaT) 9 ¥ SiEg 9
3Rl BIEE H AT el off FEr 9 Agger aerr o
SHH HE T ¥ SIS g off W s died F amedmions
OIAT FT HIA &gl 31 g o OIERE & TYA & (G Gar &
ﬁﬁ?mlﬁMﬁ?ﬁmﬁgmm oIEE # e
dik o e & oraEe argd: #3 #F1e ggfcadl # HHEs
1A & 3 38 ‘3H USET ARRT Y FearcHE At g S
T T A Fied! § AfFa =T =gar o Aiw gadr 37 el
T &

SubQuestion No : 4
Q.4 :
SIEE HTYH & Iid GER & e e JE Question ID : 16794320689

Ans X 1. THTAeS YFd
X 2 FAeegeny I
voog JEg
X 4 =T ArAaT fag

Comprehension:




e fedr 1T TEETer F GgE O T WeaAl & 3ca} ATl

DHTEE H Foor@ 1920 § & HHIE Ao oFmar g1 e S
3 Wegeld S H HEAE & 9T @ I g AT
SHHT TaY SHE Tdl & hemHE (THITHE) g ¥ Ssd 1
3@l oIETE H RAr-eer Aol off HEr I Aggay A=A &
SHH HaW FIT-ArT F SEd gU off ¥ euewd died F smearicons
OIAT %1 A Hgll 3T g o OIAERE ® TUA & (A% TaH &l
fagie’ A S At g & 39l gEae ormEE 7 eaw
dit 9X Rwman & oraEe argd: #3 #F1e ggfcadl # AHES
a1 & AR I8 30 TET AFRUT S FeacHE AT g S
T A [l wiedl § JfFd = =gar of A gaEd 37 gl

qrefiaar ¥

SubQuestion No : 5

S armrer & sEafRT orEE TEI & OEF o
e X1 8. g

v 2 g1 ArHeT B

X 3 FAeageny T

X o THTeg YF

Question ID : 16794320690

W s v et g
A 5 g
X > fream
PO
o 4 HHEE

Question ID : 16794320702

7 yfvTTETE TEAH B
ms X1 3T

X g

X 3 dg

v 2 E!—ﬂé'

Question ID : 16794320694

Q.8




Ans

gefr # 9eT &
X el
v g
X3 ¥
X4

Question ID :

16794320700

Q.9

Ans

AT F TIEET §
vk

X o e

X 3 Ty

X o o

Question ID

116794320701

Q.10

Ans

o # i a7 ose oo 72
X 1. amefEe

w2 37

< 3. HTeRTIr

X 4 HER

Question ID

116794320698

Q.11

Ans

e & =9 a1 Usg =TT g2
<1 HEr
< 2. Gegd
v g
K4 T

Question ID

116794320695

Q.12

Ans

et & o[ Fa= FreT =g B
X 1 ARt
K 2 FeTeid
v o gt
X 4 Femrtorr

Question ID

116794320704

Q.13

Ans

T ATIHT O ST g1 TET H HYE I g

X1 g gl
v s

X 3. AT
K4 |

Question ID :

16794320705




Q.14

‘TR FT AT =g g@em

Question ID : 16794320696

Ans X1 8T + TR
K2 8o+ &Y
}(3.5:|1'ﬂ:+${
N -

Q.15

Ans

foryy & wefewa & fw ve g gem:

v e
Xz.g‘a

& 3 IreHed
X4.§-w‘—=|-

Question ID : 16794320703

Q.16

Ans

e A FiF T U T T B2
&1 ATET

v 2 gy

X3 o

X4 7

Question ID : 16794320691

Q.17

Ans

TETT H A 2
X1.@z;r
v 2 g

Question ID : 16794320697

Q.18

Ans

Question ID : 16794320699

Q.19

Ans

for & 929 9= T T &7
X FereT
K 2 Ei'Ql'
v 8%
X4.E‘I§'

Question ID : 16794320692

Q.20




Ans

e A7 fers g=r & @ &2
X @HER
Xz.agté
X 3 fEamehr

W 4 HaTT

Question ID

116794320693

Section : Subject Related

Q.1
Ans

On the morning of August 6, 1945. America released Atom bomb on Japan named?
& 1. Little Secret
o 2. Little boy
# 3. Little dwarf
< 4 Little girl

Question ID

116794320721

Q.2

Ans

‘Who said this “We shall fight in the seas and oceans™?
' 1. Churchill

< 2 Rasewelt
#< 3. Hittler
& 4 Mussolini

Question ID

116794320723

Q.3

Ans

Which period of French revolution is known as region of Terror?
K 1. 1794 to 1799
X 2 1789 to 1792
X 3 1799 to 1815
W 4 1793 to 1794

Question ID

116794320706

Q4
Ans

“The Only people who had any right in [ndia are the British”, For which government bill these lines where quoted?

#< 1. Cabinet mission plan
v 2 Tlbert Bill

& 3. Simmeon Commission
# 4. Pitts India Act

Question ID

116794320718

Q.5

Ans

Which newspaper supported the Indigo peasant movement of Champaran?

& 1. Madras Gazette
' 2. Hindu Patriot
/< 3. Bengal Gazette

#< 4 The Telegraph

Question ID

116794320717

Q.6

Ans

Mangal Pandey belong to which infantry?
& 1. 32 native infantry

Question ID

116794320709




o 2. 34 native infantry
& 3. 33 native infantry
X 4. 31 native infantry

Q.7
Ans

By which charter Act of Christian missionaries were allowed to spread Christianity in India?

& 1. Charter Act-1853

Question ID :

16794320711

& 2 Charter Act-1793
o 3. Charter Act-1813
& 4 Charter Act-1833

Q.8
Ans

Which act of British government provided Diarchy at the center?

Question ID

116794320716

v 1. Actof 1935
< 2 Actof 1919
< 3. Actof 1892
& 4 Actof 1909

Q.9
Ans

In which year Louis XVI was guillotine by the Republic Government?

Question ID

116794320708

& 1. 21 March, 1792
& 2. 21 March, 1793
o 3. 21 January, 1793
K421 February, 1793

Q10 Which one of these is not related to UNO as Agencies?

Ans

Question ID

116794320719

& 1. WHO

X 2 UNESCO

& 3. FAO

v 4 A. BAMCEF

Q11 Nana Sahib was adopted son of which Peshwa?

Ans

Question ID

116794320712

< 1. Shivaji

/< 2. Bala ji Vishavnath
< 3. Peshwa Baji Rao I
o 2 Peshwa Baji Rao II

Q.12 Who among the following did not sign the Nehru Committee report?

Ans

Question ID

116794320714

# 1. Subash Chandra Bose
# 2 GR Pardhan

' 3 Jawahar Lala Nehru
/X 4 Sardar Mangal Singh

Q13 In 1945 How many countries signed the charter of UNO? [

Question ID :

16794320720




Ans

# 1. 52 Countries
& 2 53 Countries
& 3. 50 Countries
« 4 31 Countries

Q.14 In year VD Savarkar organized “Abhinav Bharat™?

Ans

X 1. 1902
v 21904
X 3. 1903
X 4. 1905

Question ID

116794320724

Q15 YWho was the political Guru of Mahatma Gandhi?

Ans

« 1. Gopal Krishna Gokhale

& 2 Justice Ranade
#< 3. Dada Bhai Naroji

& 4 Firoz Shah Mehta

Question ID :

16794320713

Q16 France went to war in 1792 with which country?

Ans

v 1. Austria
& 2. Spain

/< 3. England
/< 4 Germany

Question ID :

16794320707

Q.17 Bal Gangadhar Tilak started the newspaper “Maharatta™ in which language?

Ans

& 1. Marathi
« 2. English
3. Hindi
& 4 Urdu

Question ID

116794320715

Q“] 8 Which of the following is first leader of Indian community in North America to start a paper called “Free Hindustan™?

Ans

/< 1. Kartar Singh Sarabha
& 2. Lala Hardyal

X 3. Sohan Singh Bhakna
' 4 Tarak Nath Das

Question ID

116794320725

Q19 WWhich Pair is not Correct?

Ans

# 1. Laxmi Bai---Jhansi
o 2. Kunwar singh---Lukhnow

# 3. Tatya Tope---Gwalior
/< 4. Nana Sahib---Kanpur

Question ID

116794320710




Q20 WWhich of the following battles Hitler lost to USSR ?

Ans

o 1. War of Stalingrad
< 2. War of Narmandy

#< 3. War on Poland
X 4 War of Dunkrik

Question ID :

16794320722

Section : Subject Related

Q.1

Ans

‘Who wrote these lines “All our Palaces, all our theatres, all these riches of ours. we owe to the effort of these same
hungry People. who make these things™

& 1. Anton Chekhov
o 2. Leo Tolstoy

& 3. Maxim Gorkey
& 4 Lenin

Question ID

116794320738

Q.2

Ans

Arch Duke Franz Ferdinand was killed on which date?
o 1. 28 June 1914
K2 27 July 1914

X 3. 27 June 1914
X 4. 28 July 1914

Question ID

116794320742

Q.3

Ans

How many members were in cabinet mission plan?

& 1. 5 member
& 2. 2 member
& 3. 4 member
v 4 3 member

Question ID :

16794320729

Q4
Ans

Industrial Society = May truly be said to be amiserly, selfish system”™ which socialist thmker wrote these words in 18577
v 1. Robertowen
/X 2. Pierre Joseph Proudhan
< 3. Friedrich engles
& 4 Karlmarx

Question ID

116794320732

Q.5

Ans

What was the position of the “Mensheviks™ in 19037
< 1. Majority
o 2. Minority
/< 3. Popular
& 4 Moderate

Question ID

116794320739

Q.6
Ans

“Workers of the world unite! You have nothing to lose but your chains™ who wrote these lines?

< 1. Lenin

Question ID

116794320733




< 2 Voltare
< 3. Maximgorkey
v 4 Karl Marx

Q.7 InFirstround table conference which of these members participated as Hindu Maha sabha members?

Ans  of 1. Jaikar and BS Munje

Question ID : 16794320730

« 2 Dr. BR Ambedkar
# 3. K T paul and Sampurn Singh

& 4 CY Chintamani and T.V. Sapru

Q8 YWhen Was Rome Berlin Axis signed? Question ID - 16704320736
Ans X 1. Nov 1935

X 2 Oct 1935

v 3 Oct 1936

X 4 Nov 1936

Q.9 : " . :
Lord Canning was the Governor General of India from? Question D : 16794320745

Ans X" 1. 1857 to 1863
X 2 1858 t0 1862
o' 3 1856 t0 1862
X 4 185510 1861

‘1 0 " . . " . s
Q10 IS A entered in First World war in Which year? Question ID : 16794320743

Ans X 1. March, 1916
& 2. March, 1917
X 3 April, 1916
o 4 April, 1917

0.1 1 - . - - 4 - “ r?
Civil disobedience moment was taken back in which vear? Question ID : 16794320731

Ans X 1. 7 April, 1932
o 2 7 April, 1934
/3 6 April, 1932
&< 4 6 April, 1934

Q12 YWho gave the slogan “Peace. Land and Bread™? Question ID : 16794320741
Ans X 1. Karl Max

v 2. Lenin

< 3. Trotasky

< 4 Stalin

Q.13 Who declared “Either they will give us the govemment or we shall take it by descending on Rome™? [




Ans

# 1. F.D. Rarewelt
v 2 Mussolini

& 3. General Franko
# 4. Adalf Hittler

Question ID :

16794320744

Q.14

Ans

By which law Nazi deprived Jews of German Citizenship?
X 1. Treaty of versailles
o 2. Nuremberg Laws
#< 3. Enabling act
X 4 Mein Kamph

Question ID

116794320740

Q.15

Ans

Karl Marx used which word for factory owning middle class?
&< 1. Surfs
& 2 Proletariat
# 3 Lores

« 2 Bourgeoisie

Question ID

116794320734

Q.16

Ans

When Did Germany invade Poland?
o 1 Sept 1939
X 2 Dec 1939

< 3 Oct 1939
X 4 Nov 1939

Question ID

116794320735

Q.17

Ans

“Quit India”™ resolution was moved by which leader?

# 1. Mahatma Gandhi

' 2 Jawahar Lal Nehru

& 3 Maulana Abul Kalam Azad
# 4. Subash Chandra Bose

Question ID

116794320726

Q.18

Ans

Who gave “Father of the Nation title” to Mahatma Gandhi?
« 1. Subash Chandra Bose
X 2. G K Gokhale
/< 3. Rabindra Nath Tagore

& 4 Jawahar Lal Nehru

Question ID

116794320728

Q.19

Ans

Kanpur conspiracy case was framed against whom in 19247

/< 1. Congress
# 2. Hindu Maha sabha
< 3. Muslim League

o 2 Newbie Communist

Question ID

116794320727




Q.20 ; ; ; ; g =
Who was the King of Russia During Russian Revolution of 19177 Question ID : 16794320737

Ans o 1. Nicholas II
& 2 Stalin
& 3 Lenin
& 4. Alexander III

Section : Subject Related

1 j ; ; ; 4
Q1 YWhich of the following countries have two party system? Question ID : 16794320764

Ans X 1. Pakistan
& 2 India
W 3 USA
& 4 China

Q.2 Right to Constitutional Remedies is mentioned in which article of constitution?

Question ID : 16794320748
Ans X 1. Article 30

X 2 Article 14
v 3 Article 32
< 4 Article 23

Q.3 In Indian council act 1909 (Minto-marle act) seats of legislative council was increased to:

Question ID : 16794320750
Ans X170

v 2 60
< 3 50
< 440

Q_4 Amou_n the following which country suffered disintegration due to political fights on the basis of religious and ethaic
dentties? Question ID : 16794320763

Ans  of 1. Yugoslavia
X 2. Netherland
/< 3. Germany
< 4 Belgium

Q.5 Which provision of Constitution provide power to parliament to establish a new state?

; Question ID : 16794320755
Ans  of 1. Article 2 & 3

X 2 Article 5& 6
< 3. Article 3 & 4
K 4 Article 4 & 5

Q.6 Lord Pethick-Lawrence, Sir Stafford Cripps. A.V. Alexander are related to which of the following?
Question ID : 16794320753

Ans 1. Wavell plan
/< 2. Mount Beaton plan

+ 3 Cabinet mission plan




/X 4. Cripps mission

Q.7

**Separate Electorate system”™ was introduced in which Act?

Question ID : 16794320752

Ans 1. Pitt’s India Act
v 2 Act 1909
X 3 Act 1861
& 4 Regulating Act
Q.8 Different arguments are usually put forth in favor of and against power sharing.

Tdentify those which are in favor of power sharing:

A) Reduced conflict among different communities.
B) Decrease the possibility of arbitrariness.

C) Delay decision making process.

D) Accommodates diversities.

E) Increases inability and divisiveness.

F) Strengthen the unity of the country.

Question ID : 16794320761

G) Divided the people.
Ans €1 A BD G
W2 A B.D.F
K3 ACETF
X4 B, C,D.G
Q.9

Ans

By which Act Federal structure was introduced by British?
# 1. Ramsay Macdonald Award

X 2 Act of 1909
X 3 Actof 1919
o 2 Actof 1035

Question ID : 16794320751

Q.10 By which Article of constitution untouchebility was removed by constitution?

Question ID : 16794320747

Ans X1 Article —14
v 2 Article—17
X 3. Article — 19
X 4 Article - 21
Q11 Which one of the is not the power of Parliament? Question ID : 16794320757
Ans x 1.
Parliament can increase or decrease area of any state.
# 2. Can change the name of any state.
« 3 Can impose any language in the state.
#< 4 It can change the boundaries of any state.
Q.12 In year an act was passed to recognize Sinhala as the only official language in Sri Lanka.
Question ID : 16794320762
Ans X1 1962 AD

W 21056 AD




X 3. 1948 AD
X 41965 AD

Q.13 Communist Party of India Marxist was founded in which year?

Ans

v 1 1964
X 2 1984
& 3. 1980
X 4 1925

Question ID

116794320765

Q.14 ©On Pt. Jawaharlal Nehru introduced the “Objectives Resolution™ in constituent Assembly.

Ans

2 1. 15th January 1946

o 2 13th December 1946
& 3. 12th November 1946
< 4 11th October 1946

Question ID

116794320749

Q.15 Which of the following states has the highest Lok sabha seats?

Ans

/< 1. West Bengal

v 2. Maharashtra

< 3. Bihar

& 4. Andhra Pradesh

Question ID :

16794320756

Q.16 According to which Amendment, words “socialist and secular” were added on preamble of Indian constitution.

Ans

& 1. 78 Amendment
v 2 42 Amendment
& 3. 44 Amendment
& 4 None of these

Question ID

116794320754

Q.17 What is the duration of Question hour in Lok sabha and Rajya Sabha?

Ans

< 1. 30 minute before session
& 2. 1 hour 30 minute before session
' 2 1 hour before session

< 4. 2 hour before session

Question ID

116794320759

Q.18 By Which amendment of constitution the panchayati Raj system’s sub- article was added?

Ans

&< 1. Article 71 & 72
X 2. Article 70 & 71
#< 3. None of these

o 4 Article 73 & 74

Question ID :

16794320760

Q19 WWho has the power to implement fundamental right?

Ans

« 1. Supreme and High Court
#< 2. All courts of India

< 3. Parliament

Question ID :

16794320746




/< 4 President

Q.20 Below is the list of Rajya Sabha Seats for different states which one of these is correct?

Question ID : 16794320758
Ans Andhra Pradesh- 16

Gujarat — 18
1.
x Tamil nadu— 10
Rajasthan — 19

Andhra Pradesh- 11
Gujarat — 11

Ve Tamil nadu — 18
Rajasthan — 10

Andhra Pradesh-18
Gujarat — 18

o Tamil nadu — 12
Rajasthan — 31

Andhra Pradesh- 11
Gujarat — 16

Tamil nadu — 18
Rajasthan — 19

X 4

Section : Subject Related

Q.1 According to B.R. Ambedkar which of the following provisions is a part of one of the criticisms of Indian
Congtitutions? Question ID : 16794320773

Ans

& 1. Directive principles of state policy
# 2. Fundamental Duties
+ 3 Fundamental rights

/< 4 Fedral System

Q.2 Considering the following statements. which of the following statements is/are correct.
Question ID : 16794320782

1. Natural gas occurs in the Gondwana beds.

2. Mica occurs in abundance in Kodarma.
3. Dharwars are famous for petroleum,

Which of the statement given above is/are correct?

Ans x 1. T&II
X 2 11 & III
o 3 II only
< 4 III only
Q3 Natch The Columns: Question ID : 16794320779

A) Horizon A 1) Sub-soil

B) Horizon B ii) Bedrock

C) Horizon C iii) True soil

D) Horizon D iv) weathered soil

Ans




X 1. A (i), B (iv), C (iii), D (i)
« 2. A (iii), B (i), C (iv), D (ii)
X 3. A (iv), B (i), C (iii). D (i)
X 4 A (iii), B (iv), C (). D (ii)

Q.4 Inwhich of the following Articles of Indian constitution the Election Provision are mentioned?

Ans X 1. 329-334
W 2 324-320
X 3. 330-334
X 4. 334-320

Question ID : 16794320772

Q.5 Narmada Bachao Andolan is a good example of
Ans 5 1. Pressure Group
/< 2. Interest group

# 3. Political party
« 4 Movement

Question ID : 16794320768

Q6 In which year Nagarjunasagar project was launched?
Ans of 11956

X 21975

< 31967

X 4 1965

Question ID : 16794320776

Q.7 737 g 74 d: fior Pamct Raj was pot Jatory for which below menton states and Usdon terrilories?

Ans Goa

; Daman

* Pondicherry
Andaman

Goa
Chandigarh
4.
X Diu
Delhi

Question ID : 16794320775

Q-8 YWhat is the total area of Andaman and Nicobar Islands?
Ans  of 1. 8249 sqkm

Question ID : 16794320777




X 2. 8532 sgkm
< 3. 8921 sqgkm
/< 4 8191 sqkm

Q9 YWhich one of these is not a Pressure group?

Ans X1 INTUC
X 2. AITUC
v 3 INC
X 4 ABVP

Question ID : 16794320771

Q10 wWhich of the following is correct statement related to Biomass?

Ans

# 1. Comprised of plants and animals.
< 2

Quantity or weight of living matter per unit area and per unit time.

W3

Both Quantity or weight of living matter per unit ares and per unit time, and Comprised of plants and animals
are correct.

F

Both Quantity or weight of living matter per unit area and per unit time, and Comprised of plants
and animals are incorrect,

Question ID : 16794320781

Q11 YWhich of these is not correctly matched?
Ans 2 1. Bolivia - FEDECOR

v 2 BAMCEF - USA

#< 3. None of these

/X 4 Nepal - SPA

Question ID : 16794320769

Q.12 Which of the following is the first corporatized port of India?
Ans o 1. Ennore Port

& 2. Paradeep Port

#< 3. Kandla Port

& 4. Tutikorian Port

Question ID : 16794320780

Q.13 The Green belt movement of Kenya was led by
Ans  of 1. Wangari Maathai
X 2. Baba Amte

& 3. Nelson Mandela
/< 4 Thambu Mabiki

Question ID : 16794320770

Q14 Qeiche is the type of .
Ans 1. A glacier
/< 2. Natural vegetation
# 3. A current

Question ID : 16794320785




W 4 A wave

Q.15 Identify what kind of democratic challenge is this Iraq wide spread sectarian violence as the new goverment fails to
#ablish s aulionty, Question ID : 16794320766

Ans

+ 1. Foundational challenge of democracy
< 2. Challenge of expansion
#< 3. Deepening of democracy

& 4 None of these

Q.16 i 18 : ;
What is the Position of Moon in Perigee? Question ID : 16794320784

Ans X 1. Farthest to earth
o 2. Nearest to earth
& 3. Nearest to poles

/< 4 Nearest to quarter

Q17 What is the full form of NRSA? Question ID : 16794320778

Ans 3 1. The Non-Religious and Secular Association.
' 2. The National Remote Sensing Agency.
#< 3. The National Remote Sensing Association.
#< 4. The National Research and Science Agency.

Q.18 : . :
When was popular movement started in Nepal? Question ID : 16794320767

Ans X 1. March 1990
& 2. February 2006
& 3. March 2005
o 2 April 2006

Q.19 ; LR HE . 0
I am in favor of strong center” who said these words? Question ID : 16794320774

Ans X' 1. Tawahar Lal Nehru
& 2 Sardar Vallabh Bhai Patel
& 3. Dr. Rajendra Prasad

v 2 B.R. Ambedkar

Q.20 - 14177
What is Khamsin? Question ID : 16794320783

Ans X 1. Stable air mass
v 2 Local winds
< 3. Precipitation

/< 4. Tropical monsoon climate

Section : Subject Related




Q.1

Ans

Which of the following latitudes are known as “Horse latitudes™?

F R
75 — 90 degrees north and south of the equator

v &)
25 — 35 degrees north and south of the equator

X 3
45 — 65 degrees north and south of the equator

K 4
0 — 25 degrees north and south of the equator

Question ID : 16794320792

Q.2

Ans

What is the surface temperature of sun?

& 13550k
& 2 4290k
& 3. 9940k
v 4 3778k

Question ID : 16794320790

Q.3

Ans

Prasar Bharati came into existence in:
< 1. 1994
X 21999
V'3 1997
X 41901

Question ID : 16794320791

Q.4

Ans

Expand TPDS:
#< 1. Total Population Distributed in States
#< 2. Total Public Diverse Society
#< 3. Target People Development System
o 2 Targeted Public Distribution System

Question ID : 16794320793

Q.5

Ans

Who said, “Give me detailed map of country and I shall conquer it”?
/< 1. Wegner
v 2. Hitler
& 3. Mackinder
# 4 Humbolt

Question ID : 16794320787

Q.6

Ans

When was the Survey of India established?

X 1. 1864
X 2 1764
v 1767
X 4 1867

Question ID : 16794320788

Q.7

Which of the following mountain range is in Maharashtra?

Question ID : 16794320794




Ans

/< 1. Aborrange
/< 2. Barail range
& 3. Dalma range

« 2 Bamnoli range

8 Syfxer -
@ SR F FAGAIE (FAEY IRH) H ST 2 82 Question ID : 16794320789
A
" X1 10% ® 60%
X2 20% ¥ 70%
V'3 20% ¥ 80%
X4 10% & 70%
Q.9 National urban livelihoods mission was launched in which of the following five-year plan?
Ans Question ID : 16794320795
X 1 11™ five year plan
X 2 13™ five year plan
X 3 10™ five year plan
v 4 12t five year plan
.10 :
@1 What is Moose? Question ID : 16794320786
Ans X 1. Type of wind
& 2. Type of glacier
« 3. Type of animals
< 4 Type of natural vegetation
11 How i i iety rolled i 2
Q How many school aged girls currently in our society are not en-rolled in school Question ID : 16794320800
Ans  of 1. 60 million
# 2 50 million
/< 3. 80 million
# 4. 10 million
.1 2 . . . . . -
Q.12 The Standard of denying inclusive education to a student is: Question ID : 16794320805
Ans X' 1. Low
/&< 2. Average
X 3. Very low
o 2 Very high
A3 . g8
Q13 All children who come to school are born with: Question ID : 16794320804
Ans

o 1. A desire of knowledge

& 2. A desire of entertainment




2 3. A desire of studies
& 4. A desire of living

Q.14

Ans

What is the collaboration that teacher need to build among students?
o 1. Meaningful collaboration

# 2. Education collaboration
< 3. Collaboration about public services

# 4 Art of collaboration

Question ID : 16794320802

Q.15

Ans

B aXE & 2T fReresr 7 onfaEe 8= =fge?
X . mregties fEen
X 2 s R
v o g e
X 4 grofiers foveT

Question ID : 16794320798

Q.16

Ans

For how many years that primes had attracted students and mathematicians?

/< 1. 1000 years
/< 2. 2000 years
o 3 10.000 years
/< 4 5000 years

Question ID : 16794320799

Q.17

Ans

‘Who is influenced by educational debates in colonial period?

#< 1. Lal Bahadur Shastri
& 2. Mahatma Gandhi
/< 3. Bhagat Singh

o 2 Jawaharlal Nehru

Question ID : 16794320797

Q.18

In which year the general assembly has adopted the UN convention on the Rights of the Child?

Question ID : 16794320796

Ans 3 1. 2000
X 21930
X 31999
W 4 1989
Q.19 =@ 37 & = o7 90T & T Ae4w AR & e =12 & e g 17

Question ID : 16794320803

Ans x 1 8
V2 11
X310
<415
Q.20 What are filled with facts that students are expected to memorize?

Ans

& 1. Note books

Question ID : 16794320801




o 2 Text books

/< 3. Running notes

/< 4 Rough books
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Section : Mental Ability

Q.1 Youareonyour way to college, You find a gold chain on the road. What should be your most appropriate step?

Ans X 1. Hand over the chain to the college principal
~ 2

Hand over the chain to a nearby passing person
# 3. Pocket the chain

v &
Hand over the chain to the nearby police station

Question ID : 16794319596

Q.2 IfSmeans +. # means—, {@ means * and * means +, then what is the value of 2654@ 3856%7?

Ans  X'1. 32
X2 36
X 3 40
4 30

Question ID : 16794319601

Q.3 Stughy the following information carefully and answer the given questions,

For arecruitment process in an accounting organisation, the candidates need to possess the following qualifications
criteria:

(i) He/shie should be a graduate in commerce with af least 60%a marks.

{if) He/she should be of at least 24 years of age and not more than 40 yearsason 1 - 7- 2016,

(ifi} He/she should have a post-qualification work experi of at least 2 years.

{iv) He/dne thould have sscored $506 marks in the selection process

If the candidate fulfills the above-mentioned criteria except:

(A} (1), md if the candidate is not a graduate in ¢ but has a post-gradoation degree in finance with minimum of
60% marks, he/she should be referred to the Finance Manager of the orzanisation.

() (i1}, but if the candidate fulfills all the eligibility criteria of post-qualification weork experience but has secured 75%
miarks in the sekection process, hedshe may be referred (0 the Tranee Accountant,

Based on the above information. figure out whether the following candidate is cligible for the recruitment process, You
ara not to assume anything other than the i
1-7-2016.

ion provided in each question. The case is given to yoo ms on

Vushnavi has done graduation in Engineering with 61% marks. Her date of birth is 4, 3, 1991, She has qualified in the
selection process amd has secured 69% marks in it. She also has three vears of post-qualification work experience.

Ans XL

The candidate may be referred to the Finance Manager
<2

The candidate may be referred to the Trainee Accountant
' 3. The candidate is not to be selected
# 4 The candidate should be selected

Question ID : 16794319595

Q.4

Question ID : 16794319599




Study the following Venn diagram carefully and answer the question.

Gujarati Marathi

i
e

Y e

What is the ratio of people who speak Gujarati and Hindi but NOT
Marathi to the people who speak only Hindi?

Ans of1.1:2
X27:9
X3 33:52
K421

Q.5 The following chart shows information about the sales of the company ‘XYZ' for the year 2016 & 2017.

: Q: Q: Q: Q

|inls ®HA7

What is the ratio of total sales of the company ‘XY 2" for the year 2016 to the total sales for the year 20177

Ans X' 1. 0:15

W2 11:15
X3 15:11
X 415:9

Question ID : 16794319593

Q6 Tdentify the odd pair of numerals among the options.
ans X 1.9:37

X26:25

v 4:13

X4 7:29

Question ID : 16794319605

Q.7  Sumaculs acake into two hafves and further cuts one half into emaller pieces of equal size. Each of the small pleces is
thirty grams in weight. If she has nine pieces of the cake i all with her, how heavy was the origmal caie?

Ans 5" 1. 180 grams
/< 2. 240 grams
o 3 480 grams
/< 4. 120 grams

Question ID : 16794319602

Q.8 Spot the option figure that has the below figure embedded in it.

XD

Ans

Question ID : 16794319594




[0
X2 | N4
Xs fogo?

@ Select the most appropriate option. Question ID : 16794319598

A cycle must have -
Ans  of 1. Wheels
/< 2. Battery
#< 3. Rain proof Roof

/< 4. Vegetable Basket

Q.10 Identify the option figure that is similar to the below figures.

Question ID : 16794319589

7 | Lr | X

Ans

|

[

Q.11 Parsis are related to Zoroaster in the same way Christians are related to:

Ans X' 1. Ganesha

Question ID : 16794319588

& 2. Muhammad
W 3 Jesus




& 4 Catholics

Q.12 Apiece of paper is folded and cut as shown below in the question figure. From the given option figures, select the one
it shicates R ik voulos abress s diniutaed, Question ID : 16794319591

FREL

Ans

DC}O

F e
0
o o

X 2 o
o o
DOOD

v &) 2e
o 0
o o

X 4 O
o 0

Q-‘] 3 The pairs of words given in the options share asimilar refationship except in one pair Identify the odd pair of words,
Question ID : 16794319604

Ans 3 1. Sword : Slaughter
# 2. Gun : Shoot
< 3. Spanner : Grip
« 4 Spoon : Cut

Q.14 1fasheet of paper is folded as shown in the figure to form a cube, what will the result be?
Question ID : 16794319597

=] ]

N

A

Ans X' 1. A, C and D only
o 2. A only
X 3. Aand C only
X4 A B CandD

Q.15 : ; : S
What should come in the place of question mark in the below series Question ID : 16794319607

S, M H,2,AY

Ans X1,G
X2Pp
v:D
x4 X




Q.16 Afatheris now two times as old as his son. Ten years back, he was three times as old as his son. The present age of the l

i
Ans X‘]_ 15
X225
W3 20
< 4 30

Question ID : 16794319603

Q.17 Yhat would be the next term in the below number series.

47, 28,16, 2
Ans X1' 8
<218
Ve
X 410

Question ID : 16794319606

Q“] 8 Apix_ar.eluf paper i.slfold.ed and cut as shown below in the question figures, From the given option figures, select the one
that indicates how it would appear when anfolded.

q\HQ"
Ans

x| @

B2

O O

XZ'DD

v |9

S L2

X |® @

RN

Question ID : 16794319592

Q19 Given below are a few images. Identify the odd image.

TP =B

A B c £ )

Ans X' 1.
K 2
X 3
v 4D

e om0

Question ID : 16794319590

Q.20 Vardhaman is the brother of Vanaja. How is Vanaja's father’s only daughter’s daughter related o Vardk 7

Ans X' 1. Mother
W 2 Niece
& 3. Sister

Question ID : 16794319600




2 4 Aunt

Section : General Awareness

'1 0 .
Q1 Who among the following is a famous flute player? Question ID : 16794319619

Ans 1. Tarun Bhattacharya
« 2. Raghunath Seth

# 3. Ali Akbar Khan
X 4 Vilayat Khan

Q.2 How many total medals did India win in the 2018 Asian Games held in Indonesia?
Ans X 1. 67

Question ID : 16794319622

W 2 69
X372
X 4 76

Q3 g ; 5 . ines?
In which language are the earliest collections of Buddha's teachings Question ID : 16794319609

Ans - X 1. Sanskrit
& 2. Magadhi
& 3. Prakrit
v 4 Pali

Q.4 India finished at position in terms of medal tally (arranged as per number of gold medals) in the 2018 Asian Games.

Ans 114 Elghﬂl

Question ID : 16794319621

X2 Tenth
& 3. Seventh
& 4 Ninth

Q_5 " m > x -
Khyal" is the Hindustani folk-dance drama or theatre of Question ID : 16794319620

Ans 2 1. Andhra Pradesh
& 2. Madhya Pradesh
# 3. Uttar Pradesh
« 2 Rajasthan

Q6 WWhich of the following is NOT a 'terrestrial planet™? Question ID : 16794319612

Ans 1. Venus
o 2. Neptune
X 3. Mars
& 4 Mercury

7 ; : : ;
Q7 Who are known as the first Empire builders of India? Question ID : 16794319610




Ans

/< 1. Guptas
v 2. Nandas
/& 3. Mauryans

/< 4 Sungas

Q.8

Ans

Tnioa Government has signed 5375 million loan ag with Asian D ¥ Bank (ADEB) for Irrigation
Efficiency Improvement Project of which state?

Question ID :

16794319625

# 1. Haryana

« 2. Madhya Pradesh
# 3. Karnataka

#C 4. Maharashtra

Q.9
Ans

Which constitutional amendment raised the age of retirement of & High Court Judge from 60 to 62 years?

/& 1. 17th Constitutional Amendment Act, 1964

Question ID :

16794319615

« 2. 15th Constitutional Amendment Act, 1963
/< 3. 19th Constitutional Amendment Act. 1966
75 4. 21st Constitutional Amendment Act, 1967

Q.10
Ans

Inthe 25th GST Council Meeting, held before the Budget 2018, rates for how many goods have been reduced?

W 20

Question ID :

16794319617

X225
~3 32
X 4 36

Q.11

Ans

Bishkek is the capital of which country?

Question ID :

16794319611

& 1. Uzbekistan
o 2 Kyrgyzstan
# 3 Kazakhstan
& 4 Tajikistan

Q.12
Ans

Which Article g P ion of 1ts and places and objects of national importance?

< 1. Article 51

Question ID :

16794319614

X 2 Article 46
&< 3. Article 53
o 2 Article 49

Q.13

Ans

Where is the headquarter of Physical Research Laboratory in India?

Question ID :

16794319624

& 1. Kolkata
# 2. Thumba
X 3. Bangalore

' 4 Ahmedabad

Q.14

Uttarakhand came into being in 2000 as the state of India. [




Question ID : 16794319613
Ans
X 1. 25th |

V'3 g7t

Q15 Gulabo Sapera is associated with which dance form?

Question ID : 16794319618

Ans 1. Sattriya
& 2 Chhau
# 3. Pandavani
v 4 Kalbelia

Q.16 Where was the sixth Regional Comprehensive Economic Partnership (RCEP) Tradz Ministers® Meeting held?
Question ID : 16794319626

Ans

« 1. Singapore
# 2. Thailand
# 3. Indonesia
& 4 Malaysia

Q17 Which bank's punch line is, "Together we Prosper"? Question ID : 16794319616

Ans o 1. Bank Of Rajasthan

« 2. Andhra Bank
#< 3. Punjab National Bank

# 4 Allahabad Bank

Q18 What is the chemical formula for carbonic acid? Question ID 16704319623
ans %1 CHO;

X 2 HCO3

W 3 HyCO;

X 4 CO,HCO;

Q.19 Union Government has constituted a 21- member advisory panel on Science, Technology and imovation called Prime
Minister's Science, Technology and Innovation Advisory Council (PM-STTAC), headed by : Question ID : 16794319627

Ans X 1. sybhash Kak
A 2. AS Kiran Kumar

+ 3. K Vijay Raghavan
&K 4. VK Saraswat

Q.20 Which one of the following was the capital of the kingdom of Kosala? .
Question ID : 16794319608

Ans X 1. Varanasi
& 2. Ujjain
« 3. Ayodhya




/X 4 Kausambi

Section : Arithmetic Ability

Q.1 Jet2ve-5-24& _ ,
E(@ﬁ—st_j P T e av2 + bv/3, Then the value of (a-b) is:

1
A
3

Ans

1

2.

v 15
1

3. 2,
i 15
1

4,
i 3

Question ID : 16794319629

Q.2 A100m long train takes 7.2 seconds to cross a person walking at 5 km/h in the direction opposite to that of the train.
What is the speed (in knv'h) of the train?

Ans X 1. 48
2 45
K3 54
X 4 50

Question ID : 16794319642

Q.3 (0.2%0.3%0.173)+{0.2+0.2 0f 0.1-0.03+0.6 of 0.01) _
The value of is:
0.12 of (0.0123—0.004)+0.36X0.003

Ans X' 1.0.5
X202
X301
VES|

Question ID : 16794319628

Q.4 Let xbethe least nnmber which when divided by 21, 33, 35 and 55, leaves a remainder of 3 in each, but is exactly
divisible by 67. What is the sum of the digits of 27

Ans X112
W2 15
X317
X416

Question ID : 16794319631

Q.5 The price of oil is increased by 20%. However, the expenditure unit increases by 10% only. What is the percentage
increase or decrease m consumption?

Ans 1 4
K18 E%‘ increase

1
w2 8;%, decrease

/< 3. 10%, decrease

< 4 10%, increase

Question ID : 16794319632

Q_6 Anvi sells her watch at a loss of 5%. If she had sold it for 255 more, she would have gainad [0%. What will be the
selling price, if she sells it a gain of 8247

Ans 5 1. 3 1680

Question ID : 16794319634




W2 71620
X 3 21650

& 4 F 1600

Q.7

Ans

Tneome of A fs equal 0 1% of income of B and expenditore of A is 80% of B's expenditure. If As income is equal to
9024 of B's expenditure and the ratio of the savmgs of A to that of B is 1:2. then the value of x is:

X170
X 2 60
W3 75
X 4 80

Question ID : 16794319633

Q.8

Ans

A certain sum was lent for 3 years at 5% per annum, compound interest. If the interest for the third year is 221 more
ﬂ:mihatfmﬂ:esecondyenr._thenthesamesnmuﬂlamounﬂowhatinzfywxdoublemenrﬁerrate:immen
compounded yearly? (nearest 1o one 1)

X 1210176
X 2 710076
v 3 210067
X 4 710167

Question ID : 16794319637

Q.9

Ans

There are three positive tumbers, One-third of everage of all the three numbers is & less than the greatest number of the
three numbers. The average of lowest and the second lowest aumber is 8. The greatest number is!

X1o
< 210
311
X413

Question ID : 16794319636

Q.10 ABCD isa quadrilateral m which AB =9 cm, BC = 40 cm, €D =28 em, and AD = 15 am, I AC=41 cm, then the area

Ans

(in cm® ) of the quadrilateral is:

X 1390
X 2 270
< 3 282
v 4 306

Question ID : 16794319640

Q.11 Working together A and B can complete a work in 5 days. If A had worked twice as fast the work would have been

Ans

completed in 4 days. A starts the work with his normil capacity and Jeaves after 5 days. The remaining work will be
completed by B in:

& 1. 10 days
< 2 8 days
X 3. 4 days
o 2 5 days

Question ID : 16794319645

Q.12 ©Oae yearago, the ratio of salaries of A and Bwas 4. 5. The ratio of their individual salaries of last year and present year

Ans

are 3 4and 2 1 5 respectively. If their total salary for the present vear is ¥ 256800, then what is the present salary of B?

X 1.2 157600
o 2 7 180000
X 3. 2172000
X 4 7176800

Question ID : 16794319639

Q.1 3 Two numbers are such that ther mean proportional is 6 and third proportional is 20 5 ‘What is the difference between

Ans

the numbers?

Question ID : 16794319638




X1 4
X 23
X3 2
s

Ans

Q.14 Ashopkeeper offers discounts unﬂlzmm‘kedmceuuth:basesufthznmber of articles purchesed. He gives 10%

discennt when § asticles are purchased and 12 >0y di when § articles ere puschased, If the profit in both cases is Question ID : 16794319635

el e Rmaited b peea o R Cot o
X 1. 18%

X 2 12%

v 3 20%

X 4 15%

Ans

Q.1 5 Ravi rowed a cartain distines downstrsam in 7; hewrs while it 1ok him IZ% haours to row the same distance upstream.

To make the two-way journey in still water, how many hours will it rake him?

X< 120
3
2. 5
v 18-
X s 13%
X 418

Question ID : 16794319643

Q.16 The radivs and height of & cone are in the tatio 4:3. If the area of the base is 154 cm?, then its curved surface area (in cm?)

will be: (Take 1 =2)

Question ID : 16794319641

o2 . =

4

14
X3 2

9
qf4i
36

Ans x 1. 186.8
W 21925
X 31982
X 41836
Q.17 — Of( _ngl) (15_ 23)}':1_ . Question ID : 16794319630
LA (TR RS EETS)
Ans

Ans

Q 18 3 men and § women together can do a piece of work in 16 days whereas 6 men and 7 women can do it m 1’

How many women should 2ssist 14 men to complete the same work in & days?

K16
K23
K35
Vg

days. .
[ Question ID : 16794319644




Comprehension:

atareg afesr av¥ 2016 3T 2017 & B0 F9=r
TFFASAE T @ F g F AFF T@rar 2

UASIHICH @RI oFT ¢ UsT bl JEar
a¥ 2016 & 6 aEd &7

350

250
200
150

g

AT AT Ul R HEdr

= &

Mgt

T

SubQuestion No : 19

%' X gaRT 2T A 3R D # o v Fer Ast H Question ID : 16794319647

MTYE@WWAaﬂTFﬁwuumnhﬁ
Ser Fr Ee it Z @ g B iR D A
T 3T 937 T Fol TEAT FaAeh arg 47
I 87
Ans ¥ 1.2:53
v23:6
K35:6:
X44:86

O -1 - =

Comprehension:

Study the following graph and answer the two questions based on it.

Mumber of trees planted by NGOS
in 6 cities in the year 2016

Mumber of trees planted

Cities

PP QPN S




SubQuestion No : 20

062 The difference between the total number of trees
planted by ‘X" and “Y’ i all the six cities is
approximately what percent of total number of trees
planted by ‘Z* in cities B, E and D?

Ans < 1. 38%

K 2 34%
V'3 43%
K4 41%

Question ID : 16794319648

Section : General English

Q.1 Choose the most appropriate article to complete the sentence.

Vysakh was found to possess required qualification for the job.

Ans X1_ an
# 2. No article
v 2 the
X4 a

Question ID : 16794319656

Q.2 Choose the most appropriate phrase fo complete the sentence.

Ifmy husband us abig dinner tonight, I would have suggested that we go to that nice Italian restarant.

Ans o 1. wasn’t making
# 2. hadn’t made
#< 3. hadn’t been making
< 4 wouldn't be making

Question ID : 16794319659

Q3 Choose the sentence that is grammatically well formed.

Ans X1,

If you want to retire early. then vou start saving now.

>~ 2

If vou want to retire early. when vou start saving now.

X 3
You want to retire early. if you start saving now.
v &

If vou want to retire early. you need to start now

Question ID : 16794319663

Q.4 Choose the option that is opposite in meaning of the given word.

PROLONG
Ans - X 1. Weaken
+ 2 Shorten
# 3. Contract

Question ID : 16794319652




/< 4. Compress

Q.5

Ans

Choose the most appropriate option to complete the sentence.

The man was accused stealing his employer’s laptop.

< 1 on
& 2. with
X 3 for
W 4 of

Question ID : 16794319657

Q.6

Ans

Choose the most appropriate phrase to complete the sentence.

I persuaded the boys the room before the teacher entered.

&K 1. leave
v 2 10 leave
<3 left

X 4 leaving

Question ID : 16794319661

Q.7

Ans

Choose the option that best captures the meaning of the underlined phrase.

My car broke down on my way to the meeting.

o 1. stopped working
2. ran out of petrol

# 3. met with an accident
< 4 started crying

Question ID : 16794319655

Q.8

Ans

Choose the word/phrase that best completes the sentence.

No one expects you to learn the of the trade on your first day at work.

el ins and outs
& 2 out and out
& 3 in and out

& 4 out and about

Question ID : 16794319654

Q.9

Ans

Choose the option that is opposite in meaning of the given word.

TRIVIAL

o 1. Significant
< 2. Minor

& 3. Useful

#< 4 Enormous

Question ID : 16794319651

Q.10

Ans

Choose the option that comes closest in meaning to the given word.

CONFINE
& 1. Impose

Question ID : 16794319649




X 2. Detain
« 3. Imprison
< 4 Obstruct

Q.11

Ans

Choose the most appropriate phrase to complete the sentence.
Ravi wondered giving her odd looks.

< 1. they why were

< 2. why were they

o 3 why they were

X 4 they were why

Question ID : 16794319660

Q.12

Ans

Choose the word/phrase that best completes the sentence.
He suspected a double meaning in her words, but the thought.
X 1. discharged
X 2. distanced
v 3. dismissed
& 4. dissolved

Question ID : 16794319653

Q.13

Ans

Choose the most appropriate option to complete the senterce.

Double glazed windows have two panes of glasses and air____ between them, preventing escape of heat
# 1. was being trapped
X 2. was trapped
#< 3. had trapped
o 4 is trapped

Question ID : 16794319658

Q.14

Ans

Choose the option that comes closest in meaning to the given word.

BRISK
&< 1. Slow
v 2. Hurried
& 3. Clumsy
#< 4 Anxious

Question ID : 16794319650

Q.15

Ans

Choose the sentence that is grammatically well formed.

F R
What do vou think believes the story that man is?

K 2

Who do vou think believes the story who the man stole the painting?

v

Who do you think believes the story that the man stole the painting?

F
Who do vou think believes the story that stole the painting?

Question ID : 16794319662




Ans 1. Bluish green

Comprehension:

Read the passage carefully and answer the questions that follow.

In Japan. people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of
language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period, Japanese had just one word, .4o. for
both blue and green. The wall that divides these colours hadn’t been
erected as vet. As the language evolved, in the Heian period around the
vear 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of ao, it wasn’t really a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first crayons were imported into Japan,
and thev brought with them a way of dividing a seamless visual spread
into neat. discrete chunks (colours). There were different crayons for
green (midori) and blue (ao), and children started to adopt these names.

SubQuestion No : 16

Q1 The signal for ‘go’ in traffic in Japan is the colour:

Question ID : 16794319665

< 2. Greenish Blue
o 3 Green
X 4 Blue

Comprehension:




Q-1 1n the sentence “The wall that divides these colours

Read the passage carefully and answer the questions that follow.

In Japan. people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating *go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of
language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period, Japanese had just one word, 4o. for
both blue and green. The wall that divides these colours hadn’t been
erected as vet. As the language evolved, in the Heian period around the
year 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of ao, it wasn’t really a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first crayons were imported into Japan,
and they brought with them a way of dividing a seamless visual spread
into neat. discrete chunks (colours). There were different crayons for
green (midori) and blue (ao), and children started to adopt these names.

SubQuestion No : 17

hadn’t been erected as vet’. what does ‘the wall® refer

Question ID : 16794319668

107

Ans X" 1. Crayons

X 2 Fences
< 3. Vision
W 4 Words

Comprehension:




Read the passage carefully and answer the questions that follow.

In Japan, people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of
language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period, Japanese had just one word, 4o, for
both blue and green. The wall that divides these colours hadn’t been
erected as yet. As the language evolved, in the Heian period around the
vear 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of o, it wasn't really a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first cravons were imported into Japan,
and they brought with them a way of dividing a seamless visual spread
into neat, discrete chunks (colours). There were different crayons for
areen (midori) and blue (ao), and children started to adopt these names.

SubQuestion No : 18

Q1 i ; . ; 5
o Why was green taken for blue in Japan in early times? Question ID : 16794319667

Ans ?{ 1.
In rainbows in Japanese, blue and green blended into
each other

X 2. They did not have crayons in that period
X 3. They have two words ‘midori’ and ‘ao’

v
They had only one word ‘ao’ for blue and green

Comprehension:




Read the passage carefully and answer the questions that follow.

In Japan, people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of
language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period, Japanese had just one word, 4o, for
both blue and green. The wall that divides these colours hadn’t been
erected as yet. As the language evolved, in the Heian period around the
vear 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of o, it wasn't really a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first cravons were imported into Japan,
and they brought with them a way of dividing a seamless visual spread
into neat, discrete chunks (colours). There were different crayons for
green (midori) and blue (ao), and children started to adopt these names.

SubQuestion No : 19

Q‘; Two distinct colours ‘midori’ (green) and ‘ao” (blue) came

into existence in:

Question ID : 16794319669

Ans  5C 1. the Heian Period

X 2. pre modern Japan
X 3. the pre historic period
o 4 1917 with crayons

Comprehension:




Read the passage carefully and answer the questions that follow.

In Japan. people often refer to traffic lights as being blue in colour. And
this is a bit odd. because the traffic signal indicating ‘go’ in Japan is just
as green as it is anywhere else in the world. So why is the colour getting
lost in translation? This visual conundrum has its roots in the history of
language.

Blue and green are similar in hue. They sit next to each other in a
rainbow, which means that, to our eyes, light can blend smoothly from
blue to green or vice-versa, without going past any other colour in
between. Before the modern period, Japanese had just one word, .4o. for
both blue and green. The wall that divides these colours hadn’t been
erected as vet. As the language evolved, in the Heian period around the
vear 1000, something interesting happened. A new word popped into
being — midori — and it described a sort of greenish end of blue. Midori
was a shade of ao, it wasn’t really a new colour in its own right.

One of the first fences in this colour continuum came from an unlikely
place — crayons. In 1917, the first crayons were imported into Japan,
and they brought with them a way of dividing a seamless visual spread
into neat. discrete chunks (colours). There were different crayons for
green (midori) and blue (ao), and children started to adopt these names.

SubQuestion No : 20
Q2 T “ ) -
o The word ‘conundrum’ means: Question ID : 16794319666
Ans 1. spread
/< 2. spectrum

o 3. confusion
& 4 blend

Comprehension:

A=t & 71T TgTer #F 9gHT I T WRAl & e} AT

CIAERE Fed H uAEfewar it SafEgsar @ &1 =T
FA F HFae 3T F AR W e AR @A
mmmﬁmmmmmgm1uﬁﬁmﬁ
@ar wifge & wmrefear fr S99er @9 g & wiaar J OB
gl O & gemEe ff v wer fr TiusiEar (@ e
PEES) & HHNSFAT FT HEE W@ aTel Fiaar § & feesmr
FATSEET =murT & 31 398 1936 5. # werfaele @ av
I TATIAT & §1E TSI Har H1 o= gl




SubQuestion No : 1

V! g 1 A e A S e e Question ID : 16794319674
A XK. wremErdr e
v 2 gaETSHEEr EEmem
X 3 FafereewuEdr fememr
K 4 gledeardr fe=memr
Comprehension:

A fer 1T sreETer # g IO T WeaAl & Feal qievl

TIOERY Fed ¥ HANSFST HiT SafFasar a7 & =7 o
FA F TfFae 3T F AR W e AR AR
mmwﬁmﬁmmmm?ﬂiuﬁrgw
@A Tz & weflEar & 39 ¥R & wEar 7 g
TET g% & gemEe off v yer & Siusfaar (9l s
GIEE) g1 THASAFAT & FEE W arel Higar H T fwmr
FATTETEr FERu & 31 sEE 1936 3. F werfahe o wa
H T & FIE AL FHAdT F AT g3

SubQuestion No : 2

2
2 oafETer FRar & y9aT 9 '§'3rr? Question D : 16794319675

Ans X 1. 1956
X 2 1946
< 3 1926
v 4 1936

Comprehension:

A f&dr aTT Ty F g IO T FeAl & Beal STl

CIUEE! Fe0 § WHTSear #T SaFasar g & =T o
FA F e 3T F 3EE W e AR AR
mmmﬁaﬁmmmm?ﬂiuﬁﬁw
@ TRT & wrelaar =39 gE SRR % Fwedar ¥ 2
gl 9% & gemae ff v R Fr SiasiEar (@dr e
PEEE) &1 HHISHRAT FT g @ arel Faar § T 31foermr
TATTETEr FERu ® S8 $EE 1936 8. F werfadhe o wa
#Wﬁmwﬁ?ﬁ#&mmmﬁgma

SubQuestion No : 3
Q.3




m FTeT ﬁ. T%H:hl = W Question ID : 16794319671
s . griSesar sk SufEgear gt

X 2 Faer TIRMSSAr

X 3 FIYLAT

K 4 Faer Jafagear

Comprehension:

A=t e 71T TEmer #F 9get U T WAl & 3ca} T

TIOERT Fe0 ¥ ANSFRa dir SafEasar 2= & =7 9
FAGT H SAFdE 3T B HEE @ A AR AHATSRAT
H HEE T@A A HET H HR T AT TG TE A
@aT AT F FEnfiaar & 39aT 39 9K & #ear H gl
g aF & FemEe f v ger & CRRvsEar (9 3w
HIEEE) g1 THATSHAT & JEE @ aTe H9ar H T ffeemmr
TATTETEr e & 31 sEE 1936 §. F werfadhe oww T
I TATIAT & §1E TG FHaar H o= gl

SubQuestion No : 4
a4 Sl 9T & SFiedr H E Question ID : 16794319672
e rameieEar Fr AT
A 2 enffier Iqar
X 3 gOrTEEr IdgeT
X 4 gFAas Idar

Comprehension:

A=t e 71T TEmer #F 9get U T WAl & 3ca} T

TIOERT Fe0 ¥ ANSFRa dir SafEasar 2= & =7 9
FAGT H SAFdE 3T B HEE @ A AR AHATSRAT
H HEE T@A A HET H HR T AT TG TE A
@aT AT F FEnfiaar & 39aT 39 9K & #ear H gl
g aF & FemEe f v ger & CRRvsEar (9 3w
HIEEE) g1 THATSHAT & JEE @ aTe H9ar H T ffeemmr
TATTETEr e & 31 sEE 1936 §. F werfadhe oww T
I TATTAT & §1E FITAGIET FHiaar H1 ool g

SubQuestion No : 5

Q5 .
DT HE deEe Y T T 27 Question ID : 16794319673




Ans

X 1. BEIEE

Q.6

Ans

X 4 geedr

Question ID : 16794319687

Q.7

Ans

K1 e

X 2 AT
v T8
X4 gH

Question ID : 16794319679

Q.8

Ans

e F JATETE AGT 8-

X 2 gafes
K3 ad
X 4 JFEIeT

Question ID : 16794319686

Q.9

Ans

=T & Fifaa=es T &9 o g7

Question ID : 16794319678

Q.10

Ans

Question ID : 16794319681




Q.11 mﬂ_ ﬁ_ aﬂﬁ T QE %"’ l Question ID : 16794319680

Ans X 1. ST
X2 sfsg
v 3 I=g

K4 T

Q12 2 St F Bea & TIF F ™IT T o g Question ID : 16794319688

Ans x-lm
v 2 g

< 3 g

X 4 gareT

Q.13

‘g CICIRC=1 chﬁﬁ é"?' T H HQF £t el %’- Question ID : 16794319690

Ans xl m
K2 @
X 3 &
W 4 g AT

14 ‘
G ufm F v - Question ID : 16794319685

s of 1 ZTH
X2 B
K33
X4 |

18 e § T8 H & Question ID : 16794319682

Ans X 1. dcTRy
A 2w
X s FgsifE

v 4 e
16 =l & 923 o= FiF o1 %"’ Question ID : 16794319677
s K. arfeeT

X 2 916

X ah

W 4 g




Q.17

T @a # ia °1 oeg FiferT 27

Question ID : 16794319683

Ans X1 HTRETHS

X 2 AT

V'3 FeTT

X 4 HTHS
1 e & sume z- Question ID : 16794319684
Ans «1. aq.m_

X 2. T

K3 AT

X4 H
F SR & yE I5A e e - Question ID : 16794319689
Ans Jt g'ﬁz

X2 gE

K s gedr

X . gfee
.20 ICP=IEIEC ] Pl HT e, dcdH %’7 Question ID : 16794319676
Ans

X1
Xz.;ﬂ@'
X o e

=

Section : Subject Related

Q_1 The drain theory had en importunt role in the rise of econcmic aationalism in colonial India. Which statement is FALSE

Ans

about the theory?

W

The theory questioned the very economic exploitation by Indian capitalists

K 2

The drain. Naoroji declared. was the basic cause of India’s poverty and the fundamental evil of British rule in India.

< 3.

It was in May 1867 that Dadabhai Naoroji pat forward the idea that Britain was draining and “bleeding” India.

X 4

The acknowledged high-priest of the drain theory was Dadabhai Naoroji

Question ID : 16794319705

Q.2

Ans

The declaration of “the rights of man and of citizens” by the French Comstituent Assembly on . 15 one of the most
significant events of the French Revolaticn.

o 1. 26 August 1789

Question ID : 16794319701




/< 2. 21 December 1791
X 3 21 June 1789
X 4 14 July 1789

Q.3

Ans

Which of the following is NOT correct about the All-India Kisan Congress?

W

The first session was greeted in person by Mahatma Gandhi.

K 2

The Conference resolved to bring out a Kisan Manifesto and a periodic bulletin edited by Indulal Yagnik,

X 3

Swami Sahajanand and N.G. Ranga were clected the President and the General Secretary respeetively.

X 4

Tt was established in Lucknow in April 1936 which later chanzed its name to the All-India Kisan Sabha.

Question ID : 16794319696

Q.4
Ans

Who was the president of the Indian National Congress during independence in 19477

« 1. 1.B. Kriplani

# 2. Jawaharlal Nehru
/< 3. Rajendra Prasad

# 4 Moulana Abul Kalam Azad

Question ID : 16794319709

Q.5

Ans

Which of the following options is true of the revolt of 18572

F R

On 11 May 1857, three Indian regiments shot their officers, broke open the prisons and released their companions

~ 2

On 19 May 1857, the sepoys at Meerut who refused to use the carridges, were sentenced to ten years” imprisonment

< 3. On 12 May 1857, they marched off to Delhi
W

On 29 March 1857, Mangal Pandey fired on his officers at Barrackpore

Question ID : 16794319702

Q.6

Ans

Steam engine plaved a crucial role in the Industrial Revolntion, Whick one out of the following is INCORRECT about
the steam engine?

v al

Pre modern design of steam engine was prepared by Thomas Papin.

K 2

He entered into a long and profitable partnership with industrialist Matthew Boulton.

X 3

By 1769, James Watt had a patent for his improved design.

P

The design of steam engine was prepared by Thomas Newcomen.

Question ID : 16794319691

Q.7
Ans

In 1804, pioneered the first steam powered locomotive on an industrial rail line in southem Wales.

& 1. Edmund Cartwright

/< 2. James Watt
v = Richard Trevithick
/X 4 George Stephenson

Question ID : 16794319693

Q.8
Ans

Which of the following statements is/are correct about the partition of Bengal. 19057

F

Question ID : 16794319706




The day partition took effect - 16 October. 1905 - was declared a day of mourning throughout Bengal.

K 2

The decision to partition Bengal was announced on 19 July, 1905.
o 2 All of the given options
X 4

O September 1, the Government announced that partition was to be effected on 16 October 1905,

Q.9
Ans

Mahatma Gandhi began fast unto death onwards 20 September 1932 because of 3

# 1. the Poona Pact
& 2 failure of the second round table

X 3

re-launching of Civil Disobedience Movement

o 2 the Communal Award

Question ID : 16794319707

Q.10

Ans

Early 19205 was a crucial decade for the nise of industrial orzanisation in colonial India, Which of the following
statement is‘are FALSE?

F R

Various capitalists like G.D. Birla and fas Thalardas to establish a national level organization of Indian
ial industrial and fi ial i 1o be able to effectively lobby with the colorial govermment,

+ 2. None of the given options

X 3

This affort culminated in the formation of the Federation of Indian Chambers of Commerce and Industry (FICCI) in
1627, with a large and rapidly mcreasing representation from all parts of India.

K 4

The FICCT was soon recognized by the British government as well as the Indian public in general. as representing the
dominant opinion as well as the overall consensus within the Indian capitalist class.

Question ID : 16794319695

Q.11
Ans

The New Deal policy was introduced in USA by for various refarms after economic depression of 1929,

#< 1. Herbert Hoover

#< 2. Calvin Coolidge

/< 3. Harry S. Truman

' 4 Franklin D. Roosevelt

Question ID : 16794319694

Q.12
Ans

‘Which of the following is FALSE about the Indian National Congress' Lahore session held in December 12297

v a2l

The session adopted the non-violent methods of Non-cooperation and Civil Disobedi for the geal of Dominion Status

K 2

The session passed the resolution of Purna Swarajya

& 3
Jawaharlal Nehru was the president of session

/< 4 Noneofthe given options

Question ID : 16794319710

Q.13

Ans

‘When did Lord Canning proclaim peace and finally suppress the 1857 revolt?
& 1.1 July 1858
o 2. 5 July 1858

X 3. 30 June 1858
X 4 23 June 1858

Question ID : 16794319704




Q.14
Ans

‘Bamdi Jiwam®, which served as a textbook to the revolutionary movement, was written by 2

/< 1. Ramprasad Bismil
& 2. Jogesh Chatterjee

« 3. Sachindranath Sanyal
# 4 Rajendra Lahiri

Question ID : 16794319708

Q.15

Ans

Which pair is correctly matched with regards to French Revolution, 17892

< 1. 15 July 1789: Dismissal of Necker
< 2. 1 May 1789: Estates General assembles
5 3

15 June 1789: Adoption of title of “National Assembly” by the Third Estate

W 4

2 November 1789: Nationalisation of the property of the church

Question ID : 16794319700

Q.16

Ans

Why did Industrial revolution start from Britain?
F R

Occurrence of the Agricultural Revolution of the eighteenth century.
o 2. All of the given options.
K 3

Britain had a ready supply of capital for investment in the new industrial machines and the factorics.

F

Britain had a rich supply of the important mineral resources such as coal and iron ore.

Question ID : 16794319692

Q.17
Ans

The fundamental fiscal problem in France was structural. Which statement about it is INCORRECT?

F R

Neither the clergy. who owned about 10 percent of the land. nor the nobility. who owned betwezn 25 to 30 parcent of
the land, paid any tax.

K 2

In many areas, tax farmers collected the taxes and forwardad only part of the money to the government.

W3

Louise XV] first appoimed Necker, then Turgot as the finance minister fo improve the financial condition of France

F

War of the Austrian Succession (1740-48) and the Seven Year's War (1756-63) helped to bankrupt the state

Question ID : 16794319699

Q.18

Ans

Large parts of East Benzal were engulfed by agrarian unrest during the 18705 and early 1 880s. Which one of the
following is NOT true with regards to the unrest?

W

InMay 1873, an agrarian league or combination was formed in Yosufshahi Parganah in Pabna district to accept the
demands of the zamindars.

K 2

The unrest was caused by the efforts of the zamindars to inflate rent beyond legal limits.

< 3.

The unrest was caused by the efforts of the zammdars fo prevent the tenants from acquiring occupancy nghts undsr Act
Xof1859,

X 4

The zamindars tried to achieve through illegal coercive methods such as forced eviction and seizure of erops and cantle
as well a: by dragging the tenants mto costly litigation in the conrts.

Question ID : 16794319697

Q.19

Ans

Which East India Company official remarked about the contribution of Indian rulers that these rulers and chiefs “acted
as the breakwaters of the storm which would have otherwise swept us in one great wave.”

# 1. Lord Disraeli
# 2. Henry John Temple

Question ID : 16794319703




/< 3. John Russell
« 2 Lord Canning

Q.20 Who argued that the ‘general will’ should govern society?

Ans

+ 1. Rousseau
& 2 John Lock
& 3. Voltaire

< 2 Montesquieu

Question ID : 16794319698

Section : Subject Related

Q.1

Ans

Inthe 1937 annual session of Muslim Ieagne held in Lucknow, Tinnah declared that thers were three entities in India:

x

The Hindus, the Muslims and other religious minorities

~ 2

The Hindu, The British, the religious minorities

K 3

The Congress, the Muslim League and Dr. Ambedkar’s followers

v 2
The Congress, The British. and the Muslim League

Question ID : 16794319713

Q.2
Ans

There are six principal organs of the United Nations. Which one is NOT one of the six principal organs?

v ol
The United Nations Children's Fund (UNICEF)

# 2. The Trusteeship Council

# 3. The Secretariat
/< 4. The General Assembly

Question ID : 16794319729

Q.3
Ans

“Which one of the following measures was NOT adopted to improve the Italian economy by Mussolini?

K

He set up councils or corporations for esch industry with ¢ ives of workers, empl and i of the
Fascist party to improve production

W2

He fixed 14 hours a day as working time in factories

< 3.

The government imposed heavy taxes on the rich

X 4

He compelled the factory owners to contribute towards the life insurance of their employees

Question ID : 16794319724

Q.4

Ans

Who gave the famous motto “the socialist movement means everything. the end means nothing,” which recurs
frequently in Liberal Socialism?

v 1. Eduard Bernstein
& 2 Karl Marx

# 3. Benedetto Croce
& 4 Rosselli

Question ID : 16794319720




Q.5 The chactic insurrectionary events of 1848 begged for a coberent interpretation. which Marx and Engels intended to
supply. Which is/are correct about their provocative theory? Question ID : 16794319719
Ans x 1.
But ultimately the revolution was bound 1 succeed in overthrowing the existing social evder and establishing a classless
society
X2
The proletariat was now rising to overthrow the currently prevailing dominance of the bourgeoisic
X
The state, invariably an instrument of the ruling class, would doubtless attempt to suppress this immense uprising of workers
« 4 All of the given options
Q.6 Which of the following statements is FALSE about the First World War in its initial phase?
Question ID : 16794319725
Ans “ 1.
Germany’s invasion on Belgium ended the neutrality of France
X2
The British position was unclear as the British Government was divided on the issue of going to war
/< 3. Belgium was a neutral country
F
Italy remained neutral on the ground that Gemmany was not fizhting a defensive war
Q.7 Which oae out of the following statements is INCORRECT about the idea of Ighal’s Muslim state in colonial peried?
Question ID : 16794319711
Ans X 1.
He voiced his idea in December 1930 at the All India Muslim League
X2
He initially called for a state based on the tersitorial amalgamation of the Punjab, the North-Western provinces, Sind and
Balochistan,
X3
His idea of the Muslim state was one that was within India and restricted to Muslim majonity areas in the north-western
PIOVINCSS |
o 2. Igbal declared Indian Muslims as a ‘nation’
Q.8 Hitler's decision to intervene in the Spanish Civil war in 1936 was NOT as opportunistic because:
Question ID : 16794319722
Ans x 1.
He wanted an alliance with Spain in future war politics
« 2.
He was convinced that a Bolshevik Spain would be a strategic threat to Germany from the West
X
He wanted to annex of Spain in German empire
/< 4. All of the given options
Q.9 Which of the following did NOT play a crucial role in rise of Nazism in Germany? .
Question ID : 16794319721
Ans  of 1. Anti-Aryan propaganda
X 2. Treaty of Versailles
/< 3. Growing fear of Communism
K 4
The core of the Nazis, the disillusioned generation that came of agz in the 1920s, like Strassar. Emst Eohm, Hess and
Hitler, belonging to the trench generation
Q.10 The Bolsheviks® victory was not complete as long as the Winter Pzlace remained in the hands of the Provisional
Government because: Question ID : 16794319717
Ans

o 1. It was the office of Kerensky government




< 2

It was the main centre of the Soviet of Peasants

# 3. It was a chief treasury office
K 4

It was main office of the Soviet of Petrograd

Q.11

Ans

Arrange the following Governor Generals of India in ascending order.

K

Lord Ellenborough, Lord Auckland, Lord Amherst. Lord William Bentinck

~ 2

Lord William Bentinck, Lord Auckland, Lord Ellenborough, Lord Amherst

v &)

Lord Ambherst, Lord William Bentinck, Lord Auckland, Lord Ellenborough

K 4

Lord Auckland, Lord Ellenborough. Lord Amherst. Lord William Bentinck

Question ID : 16794319714

Q.12 Which of the following pairs of events and dates is mismatched about the Second World War?

Ans

F 0
19 July 1940: Hitler offers Britain a peace settlement

# 2. 10 June 1940: Norway surrenders

v 3. 20 Tune 1940: France surrenders

X 4

27 September 1939: Warsaw falls and Poland surrenders

Question ID : 16794319728

Q.13 The headguarters of the United Nations was previously located at_____, which later shifted fo New York,
Ans - X 1. Vienna

& 2 Geneva

' 3 Paris

& 4 London

Question ID : 16794319730

Q14 Which countries formed the Triple Alliance in 18827

Question ID : 16794319726

Ans X 1. Germany, JTapan, Ttaly
& 2. Germany, Austria, Hungary
/< 3. Germany. Japan. Russia
W Germany, Austria, [taly
Q.15 Thethoughtsof  were published together in a treatise entitled The German Ideclogy.
Ans Question ID : 16794319718

#< 1. Friedrich Engels
& 2 David Ricardo
v © Karl Marx

#< 4. Martin Luther

Q.16 The Provisional Government after the February 1917 revolution in Russia failed to spread unrest among pessants
because:

Ans

Question ID : 16794319716




F

Peasants realised that the Provisional Government was not serious about solving their problems

K 2

The Provisional Government was run by the less popular group. the Mensheviks
o 2 All of the given options
X4

The peasants’ revolts were increasing day by day

Question ID : 16794319715

Q.17 Lenin’s ‘Letters from Afar’ were written from  in March 1917.
Ans X 1. France

/< 2. Germany

v 3. Switzerland

& 4 Vienna

Q.18 “Which of the following is NOT a feature of the Dascism led by Mussolini in Italy?’

Question ID : 16794319723

Ans X 1. The deification of the State and the Ruler
o 2. Slow measures to establish democracy

& 3. Absolute sovereignty of the State

& 4 Insistence on the duties of the citizens

Q19 Ttaly entered in the Second World War in .

Question ID : 16794319727

Ans  of 1. 10 June, 1940
/< 2. 1 June. 1940
X 3. 1 September, 1939
X 4. 3 September, 1939

Q.20 Who was famous as an ‘Ambassador of Hindu-Muslim Unity®?

Question ID : 16794319712

Ans X 1. Sir Syed Ahmad Khan

& 2 Moulana Abul Kalam Aazad
< 3. Igbal
+ 4 Muhammad Ali Jinnah

Section : Subject Related

Q1 Which of the following is not the mineral belt of India?

Question ID : 16794319749

Ans X 1. Indian Ocean
X 2. Chotanagpur

< 3. Southern Region
o 2 Eastern Region

Q.2 Which one of the following options is the origin of River Beas? [

Question ID : 16794319744




Ans

« 1. Rohtang Pass

/< 2. Mansarovar
/< 3. Rakas Lake
X 4 Virenag Spring

Q.3
Ans

‘Which of the following options has the highest percentage of the total water on earth’s surface?
o 1. Ice caps
# 2 Soil moisture
< 3. Lakes
& 4 Steam and Rivers

Question ID : 16794319741

Q.4

Ans

‘Which of the following options of *f gases of the ph is in the correct sequence according to their
percentage by volume in atmosphere (highest 1o lowest)?

X 1. Np 0y CO, Ar, He
X 2 N CO» O) He, Ne
X 3. Ar, 05, COy, Ny, Ne
W 4 Ny Oy Ar COy He

Question ID : 16794319738

Q.5

Ans

Which of the given aptions is NOT an immediate objective of the National Population Policy, announced on
15 Feb, 20007

# 1. Child health care

& 2. Healthcare infrastructure
« 3. Hospitalization

# 4 Contraception

Question ID : 16794319748

Q.6
Ans

Which of the following states had the highest percentage production of Iron cre in 2015-16?
« 1 Karnataka
# 2 Jharkhand
/< 3. Chhattisgarh
&K 4 Goa

Question ID : 16794319750

Q.7
Ans

Which of the following is NOT one of the major controls of the climate of any place?
< 1. Pressure and wind system
# 2. Ocean currents
o 3. Longitudes
< 4 Continentality

Question ID : 16794319737

Q.8

Ans

‘With regard to the value of latitudes of important places, which of the followings is matched correctly?

1. Equator L. Zero

2. Tropic of Cancer 1.23° 0N
3. Tropic of Capricorn 3. 23° 30°S
4. Arctic Circle 4. 66° 30°S
5. Antarctic Circle 5. 667 30°N

1.1, 2 and 3 only
< 2 1,2 and 5 only

Question ID : 16794319732




/& 3 1,4 and 5 only
/< 41,3 and 4 only

Q.9 Chronogically arrange the soil avaibility according to their total reporting area (from highest to lowest).

Ans X1_

Red and Black soil, Laterite Soil, Mountain soil, Desert soil

K 2

Black Soil. Desert soil, Laterite soil, Grey and brown soil

X 3

Mountain Soil, Desert Soil. Red and Black Soil, Laterite Soil

W

Red soil, Black soil, Mountain soil, Desert soil

Question ID : 16794319745

Q.10 Withregard to greenhouse gases, which of the following statermens is true?

1. The primary Green House Gases of concern today are carbon dioxide, choloroflurocarbons. methane, nitrous
oxide and ozone.

2. Ozone which abserbs ulira violet radiation in the here is verv effective in absorbing terrestrial radiation
when it is present in the upper roposphere.

Ans «1. 101]1},

< 2 2 only
# 3 1and 2 both
/< 4. None of the given options

Question ID : 16794319739

Q.11 With regard to the El—Nino, which of the following statements s true?

1. El—Nino means Child Christ.
2. Itis a wann ocean curent appearing along the Peru coast. generally in December.
3. The Indian monsoon 1s also influenced by E1 - Nino.

Ans X1 1and?2
X2 1and3
o' 3. All of the given options
X4 2and3

Question ID : 16794319747

Q.12 From which of the following has the word ‘Monsoon’ been derived?
Ans of 1. Arabic

& 2 Latin

#< 3. Spanish

& 4 German

Question ID : 16794319746

Q13 Which of the following bodies has the highest salinity?

Ans  of 1. Take Van
& 2. Great salt lake
& 3 Dead Sea
X 4 Red Sea

Question ID : 16794319742

Q14 YWhich of the following is NOT true about Rocks?
Ans x 1.

Question ID : 16794319736




Igneous rocks form out of magma and lava from the interior of earth.

X2
The earth’s crust is composed of rocks. which is an aggregate of one or more minerals.
J 3.
Sedimentary rocks are also known as primary rocks.
5 4

Rocks (igneous, sedimentary and metemorphic) of the earth’s surface are exposed 10 denudational agents and are broken

up into various sizes of fiagments.

Q.15 The Sun was formed by moving cloud of gases. known as: Question ID : 16794319731
Ans o 1. Nebula

X 2. Gedid

& 3. While dwarfs

#< 4. Eratosthenes
Q.16 Which of the given options is the highest peak of Himalaya in India?

Question ID : 16794319743

Ans  of 1. Makalu
/< 2. Nanga Parbat
< 3. Mt. Everest
X 4 Dhaulagiri
Q.17

The word *Sedimentary” is derived from the Latin word:

Question ID : 16794319734

Ans  of 1. Sedimentum
& 2 Sedimentium
& 3. Sedimentanuim
& 4 Sedimentaranuim
Q.18 The circulation of water within the earth’s hydrosphere in different form. is known as:

Question ID : 16794319740

Ans ¢ 1. Weather cycle

& 2. Natural cycle

/< 3. Climate cycle

« 2 Hydrological cycle
Q.19

O T 3T se TET AefET amd w1 &

1. ATTFHST 2. GHAIT A= 3. &y A=A

Question ID : 16794319735

Ans 96132 1,8
X223,
X312 3
3 2 1

Q.20

Question ID : 16794319733




Which of the following statements is INCORRECT about Continental drift theory?

1. Alfred Wegener propounded his concept on continental drift in the year 1912,
2. Allthe continents formed a single continenial mass and a mega ocean surrounded the same.
3. The super continent was called ‘Pangaea’ and mega — ocean was called ‘Panthalassa’.

Ans o 1. None of the given options
< 2 2 only
< 3 1 only
# 4 1and 3 both

Section : Subject Related

Q.1 Self-Employment and Talent Utilization [SETU) has established under which of the following?

Ans X 1. Ministry of Labour and Employment
& 2. Ministry of Commerce and Industry
& 3.

Ministry of micro. small and medium enterprises

o 2 Niti Aayog

Question ID : 16794319756

Q.2 Which of the following statements is correct sbout ‘Merchandise Expart from India Scheme'?

L. Itwas introduced in Ist April. 2015.

Question ID : 16794319758

2. Itis a major export scheme that seeks to promote export of notified goods d/produced in India.

3. Due to high consamption, agricultural products are not covered under the scheme.

Ans 3 1. All of the given options
& 2 2 and 3 only
+ 3 1and 2 only
< 4 1 only

Q3 Representation to states in the Rajva Sabha is given:
Ans 1. as an equal number of seats to each state

& 2. in proportion to their size

' 3. in proportion to their population

& 4 in accordance to their resource

Question ID : 16794319767

Q.4 The first Constitution of India framed and given to themselves by the people of India was adopted by the Constituent
Assembly on 1

Ans

X 1. 26™ January, 1949
X 2 15% August, 1947
X 3 26™ January, 1950

v 4 26M November, 1949

Question ID : 16794319765

Q.5 Which of the following staterents is correct about Tsunami?

1. The term Tsunami comes from Korean word “isu” meaning Harbour and “nami™ meaning wave.

2. Tsunami has much smaller amplitude (wave length) offshore and a very strong wavelength at sea.

Ans  of 1. 2 only

Question ID : 16794319754




< 2 1 only
#< 3. None of the given options
# 4 1and 2 both

Q6 Self Help Groups:

Ans X 1. provide funds to start small scale industries
/< 2. encourage members to open bank accounts
& 3. provide financial support to poors

« 2 promote small savings among its members

Question ID : 16794319760

Q.7 Hindustan Flourocarbons Ltd (HFL) is subsidiary company of

Ans X 1. Hindustan Petro-chemicals Ltd
& 2 Hindustan Oil Ltd
+ 3 Hindustan Organic Chemicals Ltd

& 4 Hindustan Insecticides Ltd

Question ID : 16794319752

Q.8 Who addresses the Houses together at the commencement of the first session of each year?

Ans  of 1. The President
# 2. The Pro tem Speaker

< 3. The Speaker
& 4 The Prime Minister

Question ID : 16794319761

Q9 The 44t amendment deals with which of the following options?
Ans X 1. Curbing the jurisdiction of high courts
5 2
Extension on reservation of seats in Parliament
& 3. Curbing the fundamental rights

v &
Abolition of right to property as fundamental right

Question ID : 16794319763

Q.‘l O The term ‘Parli ¥’ refers speci v to a kind of democratic polity wherein the supreme power vests in the:

Ans - X 1. President
v 2 Parliament
& 3. Union
< 4 Rajva Sabha

Question ID : 16794319770

Q.11 In India, the gap between one session of Parliament and the next CANNOT be more than:
Ans 1. twelve months

#< 2. nine months

< 3. three months

v 4 six months

Question ID : 16794319768




Q.12 The President of India is elected by an electoral college consisting of:

Ans X1_

the members of Lok Sabha. Rajya Sabha. members of legislatures and council

K 2
all the members of Lok Sabha and Rajya Sabha

X 3
elected members of Lok Sabha and Rajva Sabha

W

elected members of Lok Sabha, Rajya Sabha and the state legislature

Question ID : 16794319762

Q.13 The New Health Policy was/has been launched in which of the following years?
Ans X 1. 2015

X 2 2018

v 3 2017

X 4. 2016

Question ID : 16794319755

Q14 New Manglore Port was declared as the Port.
Ans x 1. 1 ﬂth

K2 gt

x 3. Sth

J 4. gﬂ'.'l

Question ID : 16794319753

Q15 The original Constitution contained how many articles?

Ans X 1. 350
< 2 380
W 3 395
& 4 300

Question ID : 16794319769

Q16 YWhich of the following options is INCORRECT?
Ans « 1.

Fixed Rate is a rate of interest that varies for the entire term of the loan or deposit.

K 2
Bank Rate at which RBI lends to commercial banks.

X 3

Raverse Repo at which RBI sells government sacurities to banks in order to absorb excess liquid from market.

K 4

Smansory Liquidity Ratio (SLR) is the ratio of total daposits of a bank which it has to maintain with itself in a liquid
form at eny given point of time.

Question ID : 16794319759

Q.17 The judge of a High Court in a state is appointed by the President in consultation with:
Ans X 1. the Chief Justice of India
/< 2. the Governor of the state only

v &I

the Chief Justice of India and the Governor of the state

Question ID : 16794319766




K 4

the Chief Justice of India and the Governor and the former Chief Justice of the High Court.

Q.18 Which of the following statements regarding Tudiciary in India are correct?

1. Article 122 provided the establishment of the Supreme Court with a chief justice and seven other judges,
2. In case of appointment of a jndge other than chiefjustice. the chief justice shall be consulted.

3. Every judge of Supreme Court holds office until the age of 65 years,

4. The Supreme Court of India is free from the control and influence of legislature and executive.

Ans X 1. land 2
W2 2 3and4
« 3 land 3
X 4 land 4

Question ID : 16794319764

Q.19 With regard to the commission for Agricultural Costs and Prices (CACP). which of the given statements is FALSE?

1. CACP was established witha view toevolve a balanced and integrated price structure and is mandared to advice
on the price policy (IMSF) of 23 crops
2. CACP submits its recommendation in the form of Price policy reports avery year.

Ans o 1. None of the given options
< 2 Only1
< 3 Only2
# 4 1and 2 both

Question ID : 16794319751

Q.20 In the recently released Global Hunger Index report. out 119 countries, India’s rank is:

5 W1 100t
X 2 g7th
K 3 ggth
K 4 g4th

Question ID : 16794319757

Section : Subject Related

Q.1 Which of the following is INCORRECT about the Constituent Assembly?

Ans X1‘

The first Constituent Assembly meeting was held on 9t December, 1946.

v &)

On 9™ December, 1946, Dr. Rajendra Prasail was elected as the president of the Constituent Assembly

K 3

Dr. Sachhidanand Sinha was the oldest member of the Constituent Assembly

F

24th January., 1950 was the last day of the Constituent Assembly

Question ID : 16794319774

Q.2 Which of the followings is NOT a feature of the federal system?
Ans X 1. Authority of courts

2. Distribution of Powers
' 3. Supremacy of Parliament

& 4 Dual Government

Question ID : 16794319775

Q.3




‘Which of the fellowing statements is correct about the Election Commission”

1. Inthe beginning. te Election C i i of the Chiel Election Commissioner and four election
conumissionsTs.

2. The Election Commission shall have the power of superintendence. direction and conduct of all elections to
Parli and the state legist and of elections to the officzs of the President and Vice-President.

3, Regional Commissioners may also be appointed by the President, in consultation with the Election Commission
for assisting the election ission in general election or state legislature.

Ans \’P
1. 2 and 3 both

X 2 lonly

& 3.1 and 2 both

X< 4. 2 only

l

Question ID : 16794319778

Q.4 Inwhich of the following Articles is it mentioned that “there shall be a High Court in cach State”™?

Ans X 1. 218
X2 217
W3 214
X4 227

Question ID : 16794319771

Q.5 After the death of DP Khaitan. who became the member of the Drafting Committee?
Ans o 1. TT Krishnamachari

& 2. Annie Besant

/< 3. Dada Bhai Naoroji

& 4. Madhav Rao

Question ID : 16794319773

Q.6 Which of the following articles of the Constitution provides the election commission as an Independent body?

Ans - X 1. Article 323
X 2. Article 329 (b)

W 3 Article 324
< 4 Article 329

Question ID : 16794319777

Q.7 Inthe Indien federal system, exercise of which of the fallowing powers is limited by the fundamental rights?
Ans  of 1. Legislative

& 2. Administrative

& 3. Executive

/< 4 Financial

Question ID : 16794319776

Q.8  The Constitution (52 amendment) Act which added the Tenth Schedule, is commonly known as:

Ans X 1. Protection of Civil Rights Act
&~ 2

Schedule Castes and the Scheduled Tribes ( Prevention of Atrocities) Act
# 3. National Commission for Scheduled Castes
o 4 Anti-Defection Law

Question ID : 16794319780

Q.9 The Constitution as originally adopted had how many Parts and Schedules?

Ans 3¢ 1. 10 parts and 22 schedules
v 22 parts and 8 schedules

Question ID : 16794319772




/< 3. 18 parts and 10 schedules
< 4. 12 parts and 20 schedules

Q.‘] Q With regard to political parties snd groups, which of the following statements is comrect?
Question ID : 16794319779

1. InLok Sabha, those with a minimumn strength enough to keep the guonun, ie. 1/10% of the ttal membership, wre
recognised as Parliamentary Parties,

2. InRajya Sabha. those with 3 mini: of 30 bers are ised as Parli v Groups.
Ans 1.1 and 2 both
& 2. None of the given options

/< 3. 2 only

o 2 1 only
@11 Electronic learning comes under Question ID : 16794319783
Ans 1. Traditional learning

< 2. E-learning

& 3. IT learning

« 2 Distance learning

Q12 (Clinical and support staff are integral members of: Question ID - 16704319790

Ans  of 1. Inclusive schools

< 2. Special schools
/< 3. Corporate schools
< 4 Integrated schools

Q13 Constant change in society is expected by: Question D 16794319782

Ans X 1. strangers
/X 2. anonymous people
# 3. children
v 4 citizens

Q.14 Eradicating pay gaps and increasing the chances of women's work force is possible only through:
Question ID : 16794319785

Ans

X 1. special syllabus to girls
o 2. girls’ education
X 3. government policies

/< 4. None of the given options

Q“I 5 hﬂegmefl texlt bocks for Language, Maths and Environmental Studies, as part of integration of arts, were developed for
fhe firt fime in Question ID : 16794319787

Ans X 1. Arunachal Pradesh
& 2 Kerala
o 3. Assam
& 4. Uttar Pradesh




Q16 Teaching about solar power comes under

Ans X 1. Social Studies
# 2. Power saving techniques

« 3 Environmental awareness
/< 4 Practical education

Question ID : 16794319789

Q17 Speech and language skills are a part of:

Ans ¢ 1. practice sessions
< 2. psycho motor skills
' 3 early childhood learning

& 4. cognitive learning

Question ID : 16794319781

Q18 picnics to parks comes under:

Ans X 1. Formal Education
« 2 Environmental knowledge

# 3. Non Formal Education
& 4 Foundations of education

Question ID : 16794319788

Q19 Notations, symbols, graphs are a part of:

Ans 1. All the given options
& 2. Scientific terminology
« 3 Mathematical terminology
# 4. Technical education

Question ID : 16794319784

Q20 1 earning and education are:

Ans 1. not comparable
& 2 similar terms
& 3. parallel ways

o 4 distinet terms

Question ID : 16794319786
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